
MATHS

BOOKS - OBJECTIVE RD SHARMA ENGLISH

STRAIGHT LINES

Illustration

1. (i) Find the gradient of a straight line which is passes through the point

(-3. 6) and the mid point of (4,-5) and (-2, 9)

A. 

B. 

C. 

D. 

Answer: D

π

4

π

6

π

3

3π

4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oMmLfQ7vHCu8


Watch Video Solution

2. The point P(a,b), Q(c,d), R(a,d) and S(c,b) , where a,b,c ,d are distinct real

numbers, are

A. collinear

B. vertices of a square

C. vertices of a rhombus

D. concyclic

Answer: B

Watch Video Solution

3. Determine 
so that the line passing through 
makes an

angle of
 
angle with positive direction of 

A. 

x (3, 4)and(x, 5)

1350 x − aξs.

−2

https://dl.doubtnut.com/l/_oMmLfQ7vHCu8
https://dl.doubtnut.com/l/_qbACBwmFrJgc
https://dl.doubtnut.com/l/_QNrWI3ntdCWS


B. 2

C. 

D. 1

Answer: B

Watch Video Solution

−1

4. If the points A(-2,-5), B(2,-2) and C(8,a) are collinear , then a =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−5/2

5/2

3/2

1/2

https://dl.doubtnut.com/l/_QNrWI3ntdCWS
https://dl.doubtnut.com/l/_FQy8VBqFUhOM
https://dl.doubtnut.com/l/_lmzmlFoS43aP


5. If  as well as  are in G.P. with the same common ratio,

then the points  (A) lie on a straight line

(B) lie on a parabola (C) lie on a circle (D) are vertices of a triangle

A. lie on a straight line

B. lie on an ellipse

C. lie on a circle

D. are vertices of a triangle

Answer: A

Watch Video Solution

x1, x2, x3 y1, y2, y3

(x1, y1), (x2, y2) and (x3, y3)

6. Let  be a fixed angle. If 

 then Q is

obtanied from P by

A. clockwise rotation around origin through an angle 

0 < α <
π

2

P = (cos θ, sin θ) and Q = (cos(α − θ), sin(α − θ),

α

https://dl.doubtnut.com/l/_lmzmlFoS43aP
https://dl.doubtnut.com/l/_w2qjAWXgCwKn


B. anti-clockwise rotation around origin through an angle 

C. reflection in the line through origin with slope tan 

D. reflection in the line through origin with slope tan 

Answer: D

Watch Video Solution

α

α

α/2

7. The medians AD and BE of the triangle ABC with vertices A(0, b), B(0, 0)

and C(a, 0) are mutually perpendicular if

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

b = √2a

a = ± √2b

b = − √2a

a = − 2b

https://dl.doubtnut.com/l/_w2qjAWXgCwKn
https://dl.doubtnut.com/l/_H8ODuW5NWidQ


8. Find the equation of a line which is equidistant from the lines  

  

A. x=2

B. x=6

C. y=2

D. y=6

Answer: A

Watch Video Solution

x = 4

and x = 8.

9. The orthocentre of the triangle formed by the lines  and 

 is at the point

A. (2,0)

B. (0,3)

x = 2, y = 3

3x + 2y = 6

https://dl.doubtnut.com/l/_H8ODuW5NWidQ
https://dl.doubtnut.com/l/_9VUHSxsf6zp0
https://dl.doubtnut.com/l/_L0f9NNd5E9up


C. (2,3)

D. none of these

Answer: C

Watch Video Solution

10. Write an equation representing a pair of lines through the point


and parallel to the coordinate axes.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a, b)

(x − a)(y + b) = 0

(a − b)(y − a) = 0

(x − a)(y − b) = 0

(x + a)(y − b) = 0

https://dl.doubtnut.com/l/_L0f9NNd5E9up
https://dl.doubtnut.com/l/_0chxVKlnzYnY
https://dl.doubtnut.com/l/_j38KwgkFV9Mo


11. Let  


Then the equation of the bisector of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P ≡ ( − 1, 0), Q ≡ (0, 0), and R ≡ (3, 3√3)  be three points.

∠PQR

x + y = 0
√3

2

x + √3y = 0

√3x + y = 0

x + y = 0
√3

2

12. The equations of bisectors of the angles between the lines 

are

A. 

B. 

C. 

|x| = |y|

y = ± x, x = 0

x = , y =
1

2

1

2

y = 0, x = 0

https://dl.doubtnut.com/l/_j38KwgkFV9Mo
https://dl.doubtnut.com/l/_PA5aV8H1xCeZ


D. none of these

Answer: C

Watch Video Solution

13. A square of side a lies above the x-axis and has one vertex at the

origin. This side passing through the origin makes an angle

 with the positive direction of the x-axis. The equation

of its diagonal not passing through the origin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α(0 < α < π/4)

y(cosα + sinα) + x(cosα − sinα) = a

y(cosα − sinα) − x(sinα − cosα) = a

y(cosα + sinα) + x(sinα − cosα) = a

y(cosα + sinα) + x(sinα − cosα) = a

https://dl.doubtnut.com/l/_PA5aV8H1xCeZ
https://dl.doubtnut.com/l/_OaeqCxPCNWfl


14. Consider the equation 
. If 
are fixed and

different lines are drawn for different values of 
then
(a) the lines will

pass through a fixed point
(b) there will be a set of parallel lines
(c) all the

lines intersect the line 
 (d)all the lines will be parallel to the line 

A. the lines will pass through a single point

B. there will be one possible line only

C. there will be a set of parallel lines

D. none of these

Answer: C

Watch Video Solution

y − y1 = m(x − x1) mandx1

y1,

x = x1

y = x1

15. Let 
 be the median of the
 triangle with vertices 


 Then equation of the
 line passing

PS

P (2, 2), Q(6, − 1)andR(7, 3)

https://dl.doubtnut.com/l/_gizPPfGke1Xn
https://dl.doubtnut.com/l/_h0RWuzHrLvzX


through 
 and parallel to 
 is
 



 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, − 1) PS 2x − 9y − 7 = 0

2x − 9y − 11 = 0 2x + 9y − 11 = 0 2x + 9y + 7 = 0

2x − 9y − 7 = 0

2x − 9y − 11 = 0

2x + 9y − 11 = 0

2x + 9y + 7 = 0

16. The line  cuts the x-axis at P. The equation of the line

through P and perpendicular to the given line is

A. 

B. 

C. 

− = 1
x

a

y

b

x + y = ab

x + y = a + b

ax + by = a2

https://dl.doubtnut.com/l/_h0RWuzHrLvzX
https://dl.doubtnut.com/l/_VmmXserorXrV


D. 

Answer: C

Watch Video Solution

bx + ay = b2

17. If the foot of the perpendicular from the origin to a straight line is
at


, then find the equation of the line.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 4)

3x + 4y = 25

3x − 4y + 25 = 0

4x + 3y − 25 = 0

4x − 3y + 25 = 0

https://dl.doubtnut.com/l/_VmmXserorXrV
https://dl.doubtnut.com/l/_iossINQUWEf8


18. Let  


Then the equation of the bisector of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P ≡ ( − 1, 0), Q ≡ (0, 0), and R ≡ (3, 3√3)  be three points.

∠PQR

x + y = 0
√3

2

x + √3y = 0

√3x + y = 0

x + y = 0
√3

2

19. The point P(a,b) lies on the straight line  and the point 

 lies on the straight line  , then the equation of the

line PQ is

A. x-y=5

B. 

3x + 2y = 13

Q(b, a) 4x − y = 5

x + y = 5

https://dl.doubtnut.com/l/_eFW1RRzt6NbK
https://dl.doubtnut.com/l/_CfHkp4XvjmFu


C. 

D. 

Answer: B

Watch Video Solution

x + y = − 5

x − y = − 5

20. The perpendicular bisector of the line segment joining

 has y - intercept  Then a possible value of k is

A. 

B. 

C. 1

D. 2

Answer: B

Watch Video Solution

P (1, 4) and Q(k, 3) −4

−2

−4

https://dl.doubtnut.com/l/_CfHkp4XvjmFu
https://dl.doubtnut.com/l/_M60OSsjoxIQz
https://dl.doubtnut.com/l/_qztafqSgkzFg


21. A straight line through the point A (3,4) is such that its intercept

between the axis is bisected at A. Find its equation.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 7

3x − 4y + 7 = 0

4x + 3y = 24

3x + 4y = 25

22. The straight line  and the coordinate axes form an

isosceles triangle under which one of the following consitions ?

A. a,b,c are in G.P.

B. a,c,b are in G.P.

C. c,a,b are in G.P.

ax + by + c = 0

https://dl.doubtnut.com/l/_qztafqSgkzFg
https://dl.doubtnut.com/l/_Ubv0bk3EzDve


D. none of these

Answer: B

Watch Video Solution

23. A line forms a triangle of area 
units with the coordinate

axes. Find the equation of the line if the
 perpendicular drawn from the

origin to the line makes an angle of 
with the X-axis.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

54√3square

600

√3x + y = 18

x + √3y = 0

x + √3y = 18

https://dl.doubtnut.com/l/_Ubv0bk3EzDve
https://dl.doubtnut.com/l/_iwWqIm4fxYSV
https://dl.doubtnut.com/l/_Vj2eLLm8hj2d


24. about to only mathematics

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2 + , √3)
1

√2

(2 + , )
1

√2

√3

2

(2 + , )
1

√2

√3

2

(2 − , − )
1

√2

√3

2

25. Find the distance of the point 
 from the line 

measured along a line 

A. 4

B. 

C. 

D. 

(2, 3) 2x − 3y + 9 = 0

x − y + 1 = 0.

2√2

8√2

4√2

https://dl.doubtnut.com/l/_Vj2eLLm8hj2d
https://dl.doubtnut.com/l/_3gQ2Dhlnx6EX


Answer: D

Watch Video Solution

26. A line through the point A(2,4) intersects the line  at the

point. The minimum distance of AP , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 9

5

√2

7

√2

3

√2

1

√2

27. The distance of the point (1,2) from the line  in the

direction of the line  , is

2x − 3y − 4 = 0

x + y = 1

https://dl.doubtnut.com/l/_3gQ2Dhlnx6EX
https://dl.doubtnut.com/l/_0KFSZlQcUU8z
https://dl.doubtnut.com/l/_QuZ9VlSr13AJ


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

√2

5√2

1

√2

28. Angle made with the x-axis by a straight line drawn through (1, 2) so

that it intersects 
at a distance 
 from (1, 2) is
 
 (b) 

(c) 
(d) 

A. 

B. 

C. 

D. none of these

x + y = 4
√6

3
1050 750

600 150

π/6 and π/3

π/8 and 3π/8

π/12 and 5π/12

https://dl.doubtnut.com/l/_QuZ9VlSr13AJ
https://dl.doubtnut.com/l/_DzzIDKFta8DZ


Answer: C

Watch Video Solution

29. The point A(2,1) is translated parallel to the linen x-y=3 by a distance of

4 units. If the new position A' is in the third quadrant, then the

coordinates of A' are

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(2 + 2√2, 1 + 2√2)

( − 2 + √2, − 1 − 2√2)

(2 − 2√2, 1 − 2√2)

https://dl.doubtnut.com/l/_DzzIDKFta8DZ
https://dl.doubtnut.com/l/_tWgW25Q9cWCI


30. A straight line through origin O meets the lines

 at points A and B respectively. Then O

divides the segment AB in the ratio:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3y = 10 − 4x&8x + 6y + 5 = 0

3: 4

1: 2

2: 3

4: 1

31. The point  is translated parallel to the line  by 

units. If the new point Q lies in the third quadrant, then the equation of

the line passing through Q and perpendicular to L is

A. 

(2, 1) L : x − y = 4 2√3

2x + 2y + √16 − 1 = 0

https://dl.doubtnut.com/l/_PiY3y2vq9h2v
https://dl.doubtnut.com/l/_NXfglpMlrsTI


B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y = 3 − 3√6

x + y = 2 − √6

x + y = 3 − 2√6

32. A line passing through the point P(1,2) meets the line  at

the distance of 3 units from P. Then the slope of this line satisfies the

equation :

A. 

B. 

C. 

D. 

Answer: B

x + y = 7

8x2 − 9x + 1 = 0

7x2 − 18x + 7 = 0

16x2 − 39x + 16 = 0

7x2 − 6x − 7 = 0

https://dl.doubtnut.com/l/_NXfglpMlrsTI
https://dl.doubtnut.com/l/_12FblYBo2jsP


Watch Video Solution

33. If  falls inside the angle made by the linear equations 

 then 'a' belong to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a, a2)

y = , x > and y = 3x, x > 0,
x

2

(0, )
1

2

(3, ∞)

( , 3)
1

2

( − 3, − )
1

2

34. Points (1,2) and (-2,1) are

A. on the same side of the 

B. on the line 

4x + 2y = 1

4x + 2y = 1

https://dl.doubtnut.com/l/_12FblYBo2jsP
https://dl.doubtnut.com/l/_hQn3QuW2fLIy
https://dl.doubtnut.com/l/_CooD7IH7cpLv


C. on the opposite side of 

D. none of these

Answer: C

Watch Video Solution

4x + 2y = 1

35. The range of  in the interval  such that the points (3,5) and 

 lie on the same side of the line x+y-1=0 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

θ (0, π)

(sinθ, cosθ)

(0, )
π

2

(0, )
π

4

( , )
π

4

π

2

https://dl.doubtnut.com/l/_CooD7IH7cpLv
https://dl.doubtnut.com/l/_2p41e8tBsVPd
https://dl.doubtnut.com/l/_6sbAE5IIvfjf


36. Find the values of 
 so that the point 
 lies on or inside the

triangle having the sides ;  

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

β (0, β)

3x + y + 2 = 0 2x − 3y + 5 = 0 and

x + 4y − 14 = 0.

[ , ∞)
5

3

( − ∞, ]
7
2

[ , ]
5

3
7
2

37. If the points  lie in the same angular region

between the lines  and  , then

A.  or , 

B. 

(a, a2) and (1, 2)

3x + 4y − 1 = 0 2x + y − 3 = 0

a < − 3 a > 1

a ∈ [ − 3, 1]

https://dl.doubtnut.com/l/_6sbAE5IIvfjf
https://dl.doubtnut.com/l/_MoG5AposruMF


C.  or , 

D. none of these

Answer: A

Watch Video Solution

a <
1

4
a > − 1

38. If the point 
 is placed in between the lines 
 then

find the values of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a, a) |x + y| = 4,

a.

|α| = 4

|α| = 2

|α| < 2

|α| < 4

https://dl.doubtnut.com/l/_MoG5AposruMF
https://dl.doubtnut.com/l/_utzl3z8xeJrh
https://dl.doubtnut.com/l/_j6dDxk9ZwlPy


39. Find the value of , if the lines 3x-4y-13=0, 8x-11y-33, and

A. 7

B. 6

C. 

D. 4

Answer: C

Watch Video Solution

λ

2x − 3y + λ = 0are concurrent.

−7

40. If the lines 

are concurrent, then 
 are in
 (a). A.P. (b). G.P. (c). H.P. (d). none of

these

A. A.P.

B. G.P.

ax + 2y + 1 = 0, bx + 3y + 1 = 0andcx + 4y + 1 = 0

a, b, c

https://dl.doubtnut.com/l/_j6dDxk9ZwlPy
https://dl.doubtnut.com/l/_4hxwR8on5wuU


C. H.P.

D. none of these

Answer: C

Watch Video Solution

41. If the lines

 are

concurrent then value of 

A. 

B. 0

C. 1

D. none of these

Answer: C

Watch Video Solution

x + ay + a = 0, bx + y + b = 0, cx + cy + 1 = 0(a ≠ b ≠ c ≠ 1)

+ + =
a

a − 1

b

b − 1

c

c − 1

−1

https://dl.doubtnut.com/l/_4hxwR8on5wuU
https://dl.doubtnut.com/l/_5QyHjAbJ2DC9


42. If lines 
 are

concurrent, then prove that 
are distinct

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

px + qy + r = 0, qx + ry + p = 0 and rx + py + q = 0

p + q + r = 0(where, p, q, r ).

p + q + r = 0

p2 + q2 + r2 = pq + qr + rp

p3 + q3 + r3 = 3pqr

43. Let a, b, c and d be non-zero numbers. If the point of intersection of

the line 4ax+2ay+c = 0 and 5bx+2by+d=0 lies in the fourth quadrant and

is equidistant from the two axes, then

A. 3bc − 2ab = 0

https://dl.doubtnut.com/l/_5QyHjAbJ2DC9
https://dl.doubtnut.com/l/_ja0yjeWQvMXe
https://dl.doubtnut.com/l/_RSm7ky8JgRNJ


B. 

C. 

D. 

Answer: A

Watch Video Solution

3bc + 2ab = 0

2bc − 3ad = 0

2bc + 3ad = 0

44. The lines  intersect each other in the

first quadrant. Then the set of all possible values of a is the interval:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y = |a| and ax − y = 1

[1, ∞)

( − 1, ∞)

( − 1, 1)

(0, ∞)

https://dl.doubtnut.com/l/_RSm7ky8JgRNJ
https://dl.doubtnut.com/l/_MNZFEtYZlmKM


45. For , the distance between (1, 1) and the point of

intersection of the lines ax+by+c =0 and bx+ay+c=0 is les than . Then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a > b > c > 0

2√2

a + b − c > 0

a − b + c < 0

a − b + c > 0

a + b − c < 0

46. The equation of the straight line passing through the point

 and perpendicular to the line 

is
 (A)  (B)  (C) 

 (D) none of these

(a cos3 θ, a sin3 θ) x secθ + y cos ecθ = a

x cos θ − y sin θ = a cos 2θ x cos θ + y sin θ = a cos 2θ

x sin θ + y cos θ = a cos 2θ

https://dl.doubtnut.com/l/_MNZFEtYZlmKM
https://dl.doubtnut.com/l/_nu1JX94XRj6L
https://dl.doubtnut.com/l/_fPULe7kIDAd3


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x cos θ − y sin θ = a cos θ

x cos θ − y sin θ = a cos 2θ

x cos θ − y sin θ = − a cos 2θ

47. If p is the length of the perpendicular from the origin to the line

A. 

B. 

C. 

D. 

Answer: B

+ = 1, then prove that = +
x

a

y

b

1

p2

1

a2

1

b2

p2 = a2 + b2

= +
1

p2

1

a2

1

b2

p = a + b

= +
1

p

1

a

1

b

https://dl.doubtnut.com/l/_fPULe7kIDAd3
https://dl.doubtnut.com/l/_OlZsF75j6qeJ


Watch Video Solution

48. If p and q are respectively the perpendiculars from the origin upon

the striaght lines, whose equations are

 is

equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x secθ + y cos ecθ = a and x cos θ − y sin θ = a cos 2θ, then4p2 + q2

p2 + p'
2 = a2

p2 + 4p'
2 = a2

4p2 + p'
2 = a2

4p2 + p'
2 = 4a2

49. The Line L given by  passes through the point (13, 32). The

line K is parallel to L and has the equation . Then the

+ = 1
x

5

y

b

+ = 1
x

c

y

c

https://dl.doubtnut.com/l/_OlZsF75j6qeJ
https://dl.doubtnut.com/l/_xIwXZVW0ldzb
https://dl.doubtnut.com/l/_4wuXL32br2lx


distance between L and K is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

17/√15

23/√17

23/√15

√17

50. Show that the area of the parallelogram formed by the lines

A. 

B. 

C. 

D. none of these

2x − 3y + a = 0,  3x − 2y − a = 0,  2x − 3y + 3a = 0 and 3x − 2y − 2a =

a2

5

2a2

5

3a2

5

https://dl.doubtnut.com/l/_4wuXL32br2lx
https://dl.doubtnut.com/l/_dFO00WeJfXII


Answer: B

Watch Video Solution

51. Prove that the area of the parallelogram formed by the lines

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x cosα + y sinα = p, x cosα + ys ∈ α = q, x cos β + y sinβ = randx cos β

∣
∣
∣

∣
∣
∣

(p − q)(r − s)

cos(α − β)

∣
∣
∣

∣
∣
∣

(p − q)(r − s)

sin(α + β)

∣
∣
∣

∣
∣
∣

(p − q)(r − s)

sin(α − β)

∣
∣
∣

∣
∣
∣

(p − q)(r − s)

cos(α + β)

52. Straight lines

 form a+ = 1, + = 1, + = 2 and + = 2
x

a

y

b

x

b

y

a

x

a

y

b

x

b

y

a

https://dl.doubtnut.com/l/_dFO00WeJfXII
https://dl.doubtnut.com/l/_GF09d6sDHTYZ
https://dl.doubtnut.com/l/_XKKB0LQjMv6A


rhombus of area ( in square units)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ab

|a2 − b2|

ab

a2 + b2

a2b2

a2 + b2

a2b2

|a2 − b2|

53. Write the area of the figure formed by the lines 

A. 

B. 

C. 

D. none of these

Answer: B

a|x| + b|y| + c = 0.

c2

|ab|

2c2

|ab|

c2

2|ab|

https://dl.doubtnut.com/l/_XKKB0LQjMv6A
https://dl.doubtnut.com/l/_VT6yTMbr14is


Watch Video Solution

54. The reflection of the point (4,-13) about the line 
 is



b. 
c. 
d. 

A. (1,-14)

B. (6,-15)

C. (-1,-14)

D. none of these

Answer: C

Watch Video Solution

5x + y + 6 = 0

( − 1, − 14) (3, 4) (0, − 0) (1, 2)

55. If the image of point  in a line  is  then, the image of

point  in the same line is:

A. (3,2)

P (2, 3) L Q(4, 5)

R(0, 0)

https://dl.doubtnut.com/l/_VT6yTMbr14is
https://dl.doubtnut.com/l/_I7F9Fhe7zi4R
https://dl.doubtnut.com/l/_VzhDszZJd6BJ


B. (-2,3)

C. (-3,-2)

D. (3,-2)

Answer: D

Watch Video Solution

56. The point (4,1) undergoes the following two successive

transformations 

(i) Reflection about the line  


(ii) Translation through a distance of 2 units along the positive x-axis. 

The coordinates of the new point are

A. 

B. 

C. 

D. none of these

y = x

( − , )
1

√2

7

√2

( − , )
1

2
7

√2

( , )
7

√2

1

2

https://dl.doubtnut.com/l/_VzhDszZJd6BJ
https://dl.doubtnut.com/l/_OgafT7Ty5UZR


Answer: B

Watch Video Solution

57. about to only mathematics

A. (2,3)

B. 

C. (0,3 )

D. none of these

Answer: C

Watch Video Solution

(2, 3√2)

√2

58. Line 
 has intercepts 
 on the coordinate axes. When the axes

are rotated through a given angle
keeping the origin fixed, the same line

L aandb

https://dl.doubtnut.com/l/_OgafT7Ty5UZR
https://dl.doubtnut.com/l/_Bn3kVe4KzSY1
https://dl.doubtnut.com/l/_Q6I6U07Gu0Y8



 has intercepts 
 Then
 



(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

L pandq. a2 + b2 = p2 + q2 + = +
1

a2

1

b2

1

p2

1

q2

a2 + p2 = b2 + q2 + = +
1

a2

1

p2

1

b2

1

q2

a2 + b2 = p2 + q2

+ = +
1

a2

1

b2

1

p2

1

q2

a2 + p2 = b2 + q2

+ = +
1

a2

1

p2

1

b2

1

q2

59. about to only mathematics

A. 

B. 

C. 

D. 

1: 2

2: 1

4: 2

4: 3

https://dl.doubtnut.com/l/_Q6I6U07Gu0Y8
https://dl.doubtnut.com/l/_EqX7Vt4IvJ6W


Answer: D

Watch Video Solution

60. The equations of the lines through  and making angle 

with the line  are given by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 1, − 1) 45∘

x + y = 0

x2 − xy + x − y = 0

xy − y2 + x − y = 0

xy + xy + y = 0

xy + x + y + 1 = 0

61. A vertex of an equilateral triangle is 
 and the opposite side is 


Find the equations of other sides.

2, 3

x + y = 2.

https://dl.doubtnut.com/l/_EqX7Vt4IvJ6W
https://dl.doubtnut.com/l/_rJ0Ubp3BHZeg
https://dl.doubtnut.com/l/_e5qmCheV5nKn


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2 ± √3)x − y = 1 ± 2√3

(2 ± √3)x − y = 1 ± 2√3

(1 ± 2√3)x − y = 2 ± √3

(2 ± √3)x + y = 1 ± 2√3

62. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − 7y + 13 = 0 and 7x + y + 9 = 0

x + 7y − 13 = 0 and 7x − y − 9 = 0

x − 7y + 13 = 0 and 7x + y − 9 = 0

x − 7y − 13 = 0 and 7x + y + 9 = 0

https://dl.doubtnut.com/l/_e5qmCheV5nKn
https://dl.doubtnut.com/l/_zsMRAlWR1RYX


63. The straight line through the point of intersection of

 and  are parallel to the y-axis has

the equation

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ax + by + c = 0 a' x + b' y + c' = 0

x(ab' − a' b) + (cb' − c' b) = 0

x(ab' = a' b) + (cb' − c' b) = 0

y(a' b − ab' ) + (a' c − ac' ) = 0

64. The lines ax + by + c = 0, where 3a + 2b + 4c= 0, are concurrent at the

point (a) 
(b) 
(c) 
(d) 

A. 

( , )
1

2

3

4
(1, 3) (3, 1) ( , )

3

4

1

2

(3/4, 1/2)

https://dl.doubtnut.com/l/_zsMRAlWR1RYX
https://dl.doubtnut.com/l/_MZWnYD91p4wP
https://dl.doubtnut.com/l/_sexTnTzqjFdq


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(1/2, 3/4)

( − 3/4, − 1/2)

65. If  are in  then the lines represented by 

are

A. a single line

B. a family of concurrent lines

C. a family of parallel lines

D. none of these

Answer: B

Watch Video Solution

a, b, c A. P ax + by + c = 0

https://dl.doubtnut.com/l/_sexTnTzqjFdq
https://dl.doubtnut.com/l/_3eWqKfn4TDdW


66. If 
 and 


 then the curve 
 is
 the same straight line 

different straight line
not a straight line
none of these

A. u=0

B. a family of concurrent lines

C. a family of parallel lines

D. none of these

Answer: A

Watch Video Solution

u = a1x + b1y + c1 = 0, v = a2x + b2y + c2 = 0,

= = ,
a1

a2

b1

b2

c1

c2
u + kv = 0 u

67. If 
 and 


 then the curve 
 is
 the same straight line 

different straight line
not a straight line
none of these

u = a1x + b1y + c1 = 0, v = a2x + b2y + c2 = 0,

= = ,
a1

a2

b1

b2

c1

c2
u + kv = 0 u

https://dl.doubtnut.com/l/_3eWqKfn4TDdW
https://dl.doubtnut.com/l/_L4jiMM4ZGpZm
https://dl.doubtnut.com/l/_EZPqIeGzHBrw


A. a family of concurrent lines

B. a family of parallel line

C. u=-0 or v=0

D. none of these

Answer: B

Watch Video Solution

68. The algebraic sum of perpendicular distances from

 and  to a variable line is zero, then all the

such lines will always pass thorugh

A. the orthocentre of 

B. the centroid of 

C. the circumcentre of 

D. none of these

A(x1, y1), B(x2, y2) C(x3, y3)

ΔABC

ΔABC

ΔABC

https://dl.doubtnut.com/l/_EZPqIeGzHBrw
https://dl.doubtnut.com/l/_2SPyQX98EbMT


Answer: B

Watch Video Solution

69. If the point(p,5) lies on the parallel to y-axis and passing thorugh the

intersection of the lines , the p is

equal to

A. 3a

B. 

C. 

D. 2a

Answer: B

Watch Video Solution

2(a2 + 1)x + by + 4(a3 + a) = 0

−2a

−3a

https://dl.doubtnut.com/l/_2SPyQX98EbMT
https://dl.doubtnut.com/l/_UfJxrhpPZgX8


70. Locus
 of the image of the point (2, 3) in the line


, is a : 


(1)
 straight line parallel to x-axis.
 (2) straight line parallel to y-axis (3)

circle of radius 
(4) circle of
radius 

A. circle of radius 

B. circle of radis 

C. straight line parallel to x-axis

D. straight line parallel to y-axis

Answer: A

Watch Video Solution

(2x − 3y + 4) + k(x − 2y + 3) = 0, kεR

√2 √3

√2

√3

71. For the straight lines 4x+3y-6 = 0 and 5x+12y+9 = 0, find the equation

of the: 

(i) bisector of the abtuse angle between them 

(ii) bisector of the acute angle between them 

https://dl.doubtnut.com/l/_xBwSbIr6LRhF
https://dl.doubtnut.com/l/_JaQ5ueFaN3HZ


(iii) bisector of the angle which contains (1,2) 

(iv) bisector of the angle which contains (0,0)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9x − 7y − 41 = 0

7x + 9y − 3 = 0

9x − 7y − 3 = 0

7x + + 9x − 41 = 0

72. The equation of the bisector of the acute angle between the lines


 and 
 is
 



(d) none of
these

A. 

B. 

C. 

2x − y + 4 = 0 x − 2y = 1 x − y + 5 = 0 x − y + 1 = 0

x − y = 5

x + y + 5 = 0

x − y + 1 = 0

x − y − 5 = 0

https://dl.doubtnut.com/l/_JaQ5ueFaN3HZ
https://dl.doubtnut.com/l/_kDirYpcafnq8


D. none of these

Answer: B

Watch Video Solution

73. Find the bisector of the angle between the lines

 which contains the point (1,2)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + y − 6 = 0 and 2x − 4y + 7 = 0

6x − 2y − 5 = 0

2x + 6y − 19 = 0

6x + 2y − 5 = 0

2x + 6y + 19 = 0

https://dl.doubtnut.com/l/_kDirYpcafnq8
https://dl.doubtnut.com/l/_lRTzOaQA1pvh


74. Find the locus of the point of intersection of
 lines


and 
is a
variable).

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x cosα + y sinα = a x sinα − y cosα = b(α

x2 + y2 = a2 − b2

x2 − y2 = a20 − b2

x2 + y2 = a2 + b2

75. If O is the origin and Q is a variable points on 
Find the
locus

of the mid pint of OQ.

A. 

B. 

C. 

x2 = 4y.

y2 = 2x

y2 = x

x2 = y

https://dl.doubtnut.com/l/_bgp0WyMoHYa5
https://dl.doubtnut.com/l/_QmbWuM88WsaA


D. 

Answer: D

Watch Video Solution

x2 = 2y

76. A variable line through the point  cuts the coordinates axes

in the point . If the point  divides  internally in the ratio 

, show that the equation to the locus of  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , )
6

5

6

5

A and B P AB

2: 1 P

xy = 2x + y

5xy = 2x + y

5xy = 2(2x + y)

5xy = 2(x + 2y)

https://dl.doubtnut.com/l/_QmbWuM88WsaA
https://dl.doubtnut.com/l/_TZuy1Gd2VSHO


Illustration 18

Section I Solved Mcqs

1. The locus of a point which moves difference of its distance from two

fixed straight which are at right angles is equal to the distance from

another fixed straight line is

A. a stright line

B. a circle

C. a parabola

D. an ellipse

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DAm6VkGV6SfJ


1. If the quadrilateral formed by the lines ax+bc+c=0. a'x+b'y+c=0,

ax+by+c'=0, a'x+b'y+c'=0 has perpendicular diagonal, then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

b2 + c2 = b2 + c2

c2 + a2 = c2 + a2

a2 + b2 = a2 + b2

2. If the orthocentre of the triangle formed by the line

 is at origin , then

find (a,b)

A. (6,4)

B. 

2x + 3y − 1 = 0, x + 2y − 1 = 0, ax + by − 1 = 0

( − 3, 3)

https://dl.doubtnut.com/l/_PBomZy43DsGw
https://dl.doubtnut.com/l/_2EqtgnHLpaVx


C. 

D. 

Answer: C

Watch Video Solution

( − 8, 8)

(0, 7)

3. The straight lines 
 , and 


 are concurrent, if the straight line 

passes through the point
 (a). 
 (b) 
 
 (d) none of

these

A. (a,b)

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

x + 2y − 9 = 0, 3x + 5y − 5 = 0

ax + by − 1 = 0 35x − 22y + 1 = 0

(a, b) (b, a) ( − a, − b)

(b, c)

(a, b)

( − a, b)

https://dl.doubtnut.com/l/_2EqtgnHLpaVx
https://dl.doubtnut.com/l/_Y9cKb8zE6E4g


Watch Video Solution

4. Let the algebraic sum of the perpendicular distance from the points (2,

0), (0,2), and (1, 1) to a variable straight line be zero. Then the line
passes

through a fixed point whose coordinates are___

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1, 1)

(1, 1)

(1, − 1)

( − 1, − 1)

5. If the point  is symmetric to the point  with respect to the

bisector of the first quadrant then  is

A. 

A B(4, − 1)

AB

3√2

https://dl.doubtnut.com/l/_Y9cKb8zE6E4g
https://dl.doubtnut.com/l/_PNFpRPZ8fVMX
https://dl.doubtnut.com/l/_Bq0HIk5wQwcI


B. 

C. 

D. 

Answer: B

Watch Video Solution

5√2

7√2

9√2

6. If the straight lines 

enclose an angle  between them and meet the straight line 

 in the same point , then

A. 

B. 

C. 

D. 

Answer: B

ax + by + p = 0 and x cosα + y sinα = c

π/4

x sinα − y cosα = 0

a2 + b2 = c2

a2 + b2 = c2

a2 + b2 = 2c2

a2 + b2 = 4

https://dl.doubtnut.com/l/_Bq0HIk5wQwcI
https://dl.doubtnut.com/l/_UQgGPl8mcocJ


Watch Video Solution

7. A and B are fixed points such that . The vertex C of 

moves such that  constant. The locus of C is a

A. perpendicular to AB

B. parallel to AB

C. inclined at an angle A-B to AB

D. none of these

Answer: B

Watch Video Solution

AB = 2a ΔABC

cot A + cot B =

8. Two vertices of a triangle are 
and 
 If the orthocentre

of the triangle is the origin, find the coordinates
of the third point.

A. 

(5, − 1) ( − 2, 3)

(4, 7)

https://dl.doubtnut.com/l/_UQgGPl8mcocJ
https://dl.doubtnut.com/l/_AEDTpEfxd0Gk
https://dl.doubtnut.com/l/_CFmk3J68PyZq


B. 

C. 

D. 

Answer: B

Watch Video Solution

−4, − 7)

(2, − 3)

(5, − 1)

9. The area enclosed by  is

A. 3

B. 12

C. 9

D. 24

Answer: B

Watch Video Solution

2|x| + 3|y| ≤ 6

https://dl.doubtnut.com/l/_CFmk3J68PyZq
https://dl.doubtnut.com/l/_pqkGXGF3ETmg
https://dl.doubtnut.com/l/_G2U9Z5YwSCt5


10. If two vertices of an equilateral triangle have integral coordinates,

then the third vertex will have:

A. integral coordinates

B. coordinates which are rational

C. at lest one coordinate irrational

D. coordinates which are irrational

Answer: C

Watch Video Solution

11. The number of integral values of 
 for which the x-coordinate of the

point of intersection of the lines 
and 
is also an

integer is
(a) 2 (b) 0
(c) 4 (d) 1

A. 2

B. 0

m

3x + 4y = 9 y = mx + 1

https://dl.doubtnut.com/l/_G2U9Z5YwSCt5
https://dl.doubtnut.com/l/_85exSjac2if4


C. 4

D. 1

Answer: A

Watch Video Solution

12. The area of the parallelogram formed by the lines


 equals.
 
 (b) 


 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = mx, y = xm + 1, y = nx, andy = nx + 1
|m + n|

(m − n)2

2

|m + n|

1

(|m + n|)

1

(|m − n|)

|m + n|

(m − n)
2

2

|m + n|

1

|m + n|

1

|m − n|

https://dl.doubtnut.com/l/_85exSjac2if4
https://dl.doubtnut.com/l/_9io0dEHdGg9D


13. The circumcentre of the triangle from by the lines

 and  , is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

xy + 2x + 2y + 4 = 0 x + y + 2 = 0 :

( − 1, 1 − )

(0, − 1)

(1, 1)

( − 1, 0)

14. The lines  and 

 are perpendicular to a common line

for

A. no value of p

p(p2 + 1)x − y + q = 0

(p2 + 1)
2
x + (p2 + 1)y + 2q = 0

https://dl.doubtnut.com/l/_9io0dEHdGg9D
https://dl.doubtnut.com/l/_yisVgiQTC4kJ
https://dl.doubtnut.com/l/_08rwf8Uj666W


B. exactly one value of p

C. exactly two values of p

D. more than two value of p

Answer: B

Watch Video Solution

15. about to only mathematics

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 2

3: 4

2: 1

4: 3

https://dl.doubtnut.com/l/_08rwf8Uj666W
https://dl.doubtnut.com/l/_FwZMeZSgXbaK
https://dl.doubtnut.com/l/_R5l1qa6iZlW9


16. The point (3,2) is reflected in the y-axis and then moved a distance of 5

units towards the negative side of y-axis . The coordinate of the point

thus obtained , are

A. (3,-3)

B. (-3,3)

C. (3,3)

D. (-3,-3)

Answer:

Watch Video Solution

17. If 
 are in harmonic progression, then the straight line 


 always passes through a fixed point. Find that

point.

A. (-1,2)

a, b, c

(( )) + ( ) = 0
x

a y

b

l

c

https://dl.doubtnut.com/l/_R5l1qa6iZlW9
https://dl.doubtnut.com/l/_tpA6aanvXr1B


B. (1,-2)

C. (-1,-2)

D. (1,2)

Answer: B

Watch Video Solution

18. Vertices of a variable triangle are  and 

, where . Locus of its orthocentre is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(3, 4), (5 cos θ, 5 sin θ)

(5 sin θ, − 5 cos θ) θ ∈ R

(x + y − 1)2 + (x − y − 7)2 = 100

(x + y − 7)2 + (x − y − 1)2 = 100

(x + y − 7)2 + (x + y − 1)2 = 100

(x + y − 7)2 + (x − y + 1)2 = 100

https://dl.doubtnut.com/l/_tpA6aanvXr1B
https://dl.doubtnut.com/l/_celYqSu6NRa2


19. If point  lies inside the triangle formed by the lines

 then 

A. 

B. 

C. [-1,1]

D. 

Answer: B

Watch Video Solution

P(α, α2 − 2)

x + y = 1, y = x + 1 and y = − 1 α ∈

( − √3, √3)

( , − 1) ∪ (1, )
1 − √13

2

−1 + √13

2

( , )
1 − √13

2

−1 + √13

2

20.  are vertices of  If 'P' is the point

inside the , such that  min. .

Then the maximum of  is.(where  represent distance

between .

A(3, 4), B(0, 0) and c(3, 0) ΔABC.

ΔABC d(P , BC) ≤ {d(P , AB), d(P , AC)}

d(P , BC) d(P , BC)

P and BC)

https://dl.doubtnut.com/l/_celYqSu6NRa2
https://dl.doubtnut.com/l/_YqIz7fkUOxgK
https://dl.doubtnut.com/l/_vpKTUn6OSQV9


A. 1

B. 

C. 2

D. none of these

Answer:

Watch Video Solution

1/2

21. The line parallel to the x-axis and passing through the intersection of

the lines 
 and 
 , where 


, is
above the x-axis at a distance of 3/2 units from it
above

the x-axis at a distance of 2/3 units from it
below the x-axis at a distance

of 3/2 units from it
below the x-axis at a distance of 2/3 units from it

A. above the x-axis at a distance of 2/3 from it .

B. above the x-axis at a distance of 3/2 from it .

C. below the x-axis at a distance of 2/3 from it.

ax + 2by + 3b = 0 bx − 2y − 3a = 0

(a, b) ≠ (0, 0)

https://dl.doubtnut.com/l/_vpKTUn6OSQV9
https://dl.doubtnut.com/l/_8nVkpvK7DRHb


D. below the x-axis at a distance of 3/2 from it

Answer:

Watch Video Solution

22. If 
is any point on a line, then the range of the

values of 
 for which the point 
 lies between the parallel lines 


is
`4(sqrt(2))/3

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

P(1 + , 2 + t√2)
t

√2

t P

x + 2y = 1and2x + 4y = 15.

( , )
−4√2

5

5√2

6

(0, )
5√2

6

( , 0)
−4√2

5

https://dl.doubtnut.com/l/_8nVkpvK7DRHb
https://dl.doubtnut.com/l/_fXEiMferkbEu
https://dl.doubtnut.com/l/_orfvXVaciLpn


23. If the point 
 is placed in between the lines 
 then

find the values of 

A. |a| =2

B. |a| =1

C. 

D. 

Answer: C

Watch Video Solution

(a, a) |x + y| = 4,

a.

|a| < 1

|a| <
1

2

24. The side AB of an isosceles triangle is along the axis of x with vertices

 and . The equation of the side BC when 

and  is:

A. 

B. 

A(– 1, 0) AB = AC ∠A = 120∘

BC = 4√3

x + √3y − 3 = 0

√3x + y = 3

https://dl.doubtnut.com/l/_orfvXVaciLpn
https://dl.doubtnut.com/l/_OQ9IyXjML8AA


C. 

D. none of these

Answer:

Watch Video Solution

x + y = √3

25. Point  is translated through a distance  units measured

parallel to the line  in the directionof decreasing ordinates

to reach at Q. If R is the imageof Q with respect to the line 

, then thecoordinates of R are given by
(1)  (2)  (3)  (4) 

A. (-1,1)

B. (5,7)

C. (6,6)

D. (0,0)

Answer:

P (2, 4) 3√2

y − x − 1 = 0

y − x − 1 = 0

(5, 7) ( − 1, 1) (6, 6)

(0, 0)

https://dl.doubtnut.com/l/_OQ9IyXjML8AA
https://dl.doubtnut.com/l/_JSQ4YtKax5ua


Watch Video Solution

26. If the distance of ny point (x,y) from the origin is defined as d(x,y) =

max ,d(x,y)=a non -zero constant , then the locus is

A. a circle

B. a square

C. a triangle

D. none of these

Answer: B

Watch Video Solution

{|x|, |y|}

27. The equation , k k being parameter

represents a family of lines. The line which belongs to this family and is at

a maximum distance from the point (1, 4) is:

(1 + 2k)x + (1 − k)y + k = 0

https://dl.doubtnut.com/l/_JSQ4YtKax5ua
https://dl.doubtnut.com/l/_Hhawh6qEenDd
https://dl.doubtnut.com/l/_M2joGwNmZRb1


A. 4x - y + 1 = 0

B. 33x + 12y 7 = 0

C. 12 x + 33y = 7

D. none of these

Answer: C

Watch Video Solution

28. In the quadratic equation , if

 are in GP. where  are

the roots of , then

A. (1,-1)

B. (1,1)

C. (-1/6 , -7/6)

D. (1/6 , 7/6)

ax2 + bx + c = 0

Δ = b2 − 4ac and α + β, α2 + β2, α3 + β3 α, β

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_M2joGwNmZRb1
https://dl.doubtnut.com/l/_bNrFeGKRYOHP


Answer: C

Watch Video Solution

29. One vertex of the equilateral triangle with centroid at the origin and

one side as  is :

A. (-1,1)

B. (2,2)

C. (-2,-2)

D. none of these

Answer:

Watch Video Solution

x + y − 2 = 0

30. Let  be two points and  be a point such that

area of  is 3 sq. units and .

A(1, 2), B(3, 4) C(x, y)

ΔABC (x − 1)(x − 3) + (y − 2)(y − 4) = 0

https://dl.doubtnut.com/l/_bNrFeGKRYOHP
https://dl.doubtnut.com/l/_FG2FjqOOBz8j
https://dl.doubtnut.com/l/_MBWm69wjjX8O


Then number of positions of C, in the xy plane is

A. 2

B. 4

C. 8

D. none of these

Answer:

Watch Video Solution

31. The co-ordinates of the four vertices of quadrilateral are

 taken in order. The equation of

the line through the vertex  and dividing the quadrilateral in

two`equal parts is:

A. x + 1 = 0

B. x + y = 1

C. x - y + 3 = 0

( − 2, 4), ( − 1, 2), (1, 2) and (2, 4),

( − 1, 2)

https://dl.doubtnut.com/l/_MBWm69wjjX8O
https://dl.doubtnut.com/l/_tMdtJ5Jf54UT


D. none of these

Answer:

Watch Video Solution

32. The bisector of the acute angle formed between the lines 4x - 3y + 7 =

0 and 3x - 4y + 14 = 0 has the equation

A. x + y + 3 = 0

B. x - y - 3 = 0

C. x - y + 3 =0

D. 3x - y - 7 = 0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tMdtJ5Jf54UT
https://dl.doubtnut.com/l/_dx5JqyYFsH9y


33. The equation of the bisector of that angle between the lines

 which contains the point (1,1) is

A. 

B. 

C. 3x = 10

D. none of these

Answer: A

Watch Video Solution

x + y = 3 and 2x − y = 2

(√5 − 2√2)x + (√5 + √2)y − 3√5 + 2√2 = 0

(√5 + 2√2)x + (√5 − √2)y − 3√5 − 2√2 = 0

34. If the area of the parallelogram formed by the lines 2x - 3y + a = 0 , 3x -

2y - a = 0 , 2x - 3y + 3a = 0 and 3x - 2y - 2a = 0 is 10 square units , then a =

A. 

B.  10

C.  5

±1

±

±

https://dl.doubtnut.com/l/_gbnjOaBY4z3c
https://dl.doubtnut.com/l/_Ef2eijWwxTyg


D. none of these

Answer: C

Watch Video Solution

35. If a vertex of an equilateral triangle is the origin and the side opposite

to it has the equation x+y=1, then orthocentre of the triangle is :

A. (1/3 , 1/3)

B. 

C. (2/3 , 2/3)

D. none of these

Answer:

Watch Video Solution

(√2/3, √2/3)

https://dl.doubtnut.com/l/_Ef2eijWwxTyg
https://dl.doubtnut.com/l/_xAEZSFV4iDLm


36. Let  and be two points. If  is a point on the x-axis such

that  is minimum then the co ordinates of  are

A. (5/3 , 0)

B. (1/3 , 0)

C. (3,0)

D. none of these

Answer:

Watch Video Solution

A(3, 4) B(5, 8) C

AC + BC C

37. The equation of straight line equally inclined to the axes and

equidistant from the point  and  is:

A. x + y + 1 = 0

B. x + y + 2 = 0

C. x - y - 2 = 0

(1, − 2) (3, 4)

https://dl.doubtnut.com/l/_EQF0EDXti8Jg
https://dl.doubtnut.com/l/_wrEJORsSLAdt


D. x -y - 1 = 0

Answer: D

Watch Video Solution

38. The point  is shifted by  unit distance parallel to the line 

 in the direction of increasing ordinate to reach a point B. Find

the image of B by the line .

A. (5,-2)

B. (-3,2)

C. (5,4)

D. (-1,4)

Answer:

Watch Video Solution

A(2, 1) 3√2

x + y = 1

x + y = 1

https://dl.doubtnut.com/l/_wrEJORsSLAdt
https://dl.doubtnut.com/l/_Zlg0SW8pfsOj
https://dl.doubtnut.com/l/_iEv2BdmYKg1G


39. The equation of the line AB is . If A and B lie on the same side of

the line mirror , then the equation of the image of AB is

A. x + y - 2 = 0

B. 8x + y - 9 = 0

C. 7x - y - 6 = 0

D. none of these

Answer:

Watch Video Solution

y = x

2x − y = 1

40. If a ray travelling along the line  gets reflected from the line x +

y = 1, then the eqaution the line along which the reflected ray travels is

A. y = 0

B. x - y = 1

C. x = 0

x = 1

https://dl.doubtnut.com/l/_iEv2BdmYKg1G
https://dl.doubtnut.com/l/_UlnlSE4bOShS


D. none of these

Answer:

Watch Video Solution

41. Equation of the bisector of angle B of the triangle ABC is . If A is 

 and B is ; equation of side BC is (A)  (B) 

 (C)  (D) none of these

A. 2x + y - 3 = 0

B. x - 5y + 4 = 0

C. x - 6y + 5 = 0

D. none of these

Answer:

Watch Video Solution

y = x

(2, 6) (1, 1) 2x + y − 3 = 0

x − 5y + 4 = 0 x − 6y + 5 = 0

https://dl.doubtnut.com/l/_UlnlSE4bOShS
https://dl.doubtnut.com/l/_pa28a7C8nsol
https://dl.doubtnut.com/l/_LnxSuW0WlFT7


42. Let . Let the perpendicular bisector of AB

at M meet the y-axis at R. Then the locus of midpoint P of MR is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A3(0, 4) and Bs(21, 0) ∈ R

y = x2 + 21

x2 + y2 =
1

4

(y − 2)2 − x2 = 4

y + x2 = 2

3x2 + y2 = 8

43. Let A and B have coordinates  and  respectively . We

define the distance between A and B as 

d (A , B) = max  


If d ( A, O) = 1 , where O is the origin , then the locus of A has an area of

A. 1sq. Unit

(x1, y1) (x2, y2)

{|x2 − x1|, |y2 − y1|}

https://dl.doubtnut.com/l/_LnxSuW0WlFT7
https://dl.doubtnut.com/l/_zrvEdu1Pmv2o


B. 2 sq. units

C. 4sq. units

D. 1/4 sq. units

Answer: C

Watch Video Solution

44. Number of integral points (integral points means both the co-

ordinates should be integer) exactly in the interior of the triangle with

vertices  is

A. 133

B. 190

C. 233

D. 105

Answer: B

(0, 0), (0, 21) and (21, 0)

https://dl.doubtnut.com/l/_zrvEdu1Pmv2o
https://dl.doubtnut.com/l/_rK30OhU2Jq7s


Watch Video Solution

45. Prove that the locus of the centroid of the triangle whose vertices are


and 
, where 
is a parameter, is

circle.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(a cos t, a sin t), (b sin t, − b cos t), (1, 0) t

(3x + 1)2 + (3y)2 = a2 − b2

(3x − 1)2 = a2 − b2

(3x − 1)2 + (3y)2 = a2 + b2

(3x + 1)2 + (3y)2 = a2 + b2

46. The locus of a point which moves such that difference of its distance

from two fixed straight which are at right angles is equal to the distance

from another fixed straight line is

https://dl.doubtnut.com/l/_rK30OhU2Jq7s
https://dl.doubtnut.com/l/_UJ0tmXdowHna
https://dl.doubtnut.com/l/_lubbt1sYbZLQ


A. a straight line

B. a circle

C. a parabola

D. an ellipse

Answer: A

Watch Video Solution

47. If the sum of the distances of a point from two perpendicular lines in

a plane is 1, then its locus is

(a)a square  (b)  a circle (c) a straight line         (d)  two intersecting lines

A. a circle

B. an ellipse

C. a hyperbola

D. none of these

https://dl.doubtnut.com/l/_lubbt1sYbZLQ
https://dl.doubtnut.com/l/_qvmybd9T5DNP


Answer:

Watch Video Solution

48. distance of the lines  from the point  measured

paralel to the line  is

A. 

B. 

C. 

D. 6

Answer:

Watch Video Solution

2x − 3y − 4 = 0 (1, 1)

x + y = 1

√2

5

√2

1

√2

49. ABC is an isosceles triangle. If the coordinates of the base are 

and  the coordinates of convertex A can be

B(1, 3)

C( − 2, 7)

https://dl.doubtnut.com/l/_qvmybd9T5DNP
https://dl.doubtnut.com/l/_Dl3ck8PBA6yF
https://dl.doubtnut.com/l/_DbcJylsfQzE8


A. (1,6)

B. (1/2 , 5)

C. (5/6 , 6)

D. none of these

Answer:

Watch Video Solution

50. The co-ordinate axes are rotated about the origin O in the counter-

clockwise direction through an angle  If p and q are the intercepts

made on the new axes by a straight line whose equation referred to the

original axes is x + y = 1 , then 

A. 2

B. 3

C. 6

D. 8

60∘

+ =
1

p2

1

q2

https://dl.doubtnut.com/l/_DbcJylsfQzE8
https://dl.doubtnut.com/l/_Hx5UMMmphGOC


Answer: A

Watch Video Solution

51. If the equation of the locus of a point equidistant from the points


 and 
 is 
 , then find the

value of .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a1, b1) (a2, b2) (a1 − a2)x + (b1 − b2)y + c = 0

c

√a2
1 + b2

1 − a2
2 − b2

2

(a2
2 + b2

2 − a2
1 − b2

1)
1

2

a2
1 − a2

2 + b2
1 − b2

2

(a2
1 + a2

2 + b2
1 + b2

2)
1

2

https://dl.doubtnut.com/l/_Hx5UMMmphGOC
https://dl.doubtnut.com/l/_C65ctOwOtItJ


52. Let 
 be the
 vertices of 
 If the

centroid of the triangle moves on the line 
 then find
 the

locus of the vertex 

A. 3x - 2y = 3

B. 2x - 3y = 7

C. 3x + 2y = 5

D. 2x + 3y = 9

Answer: D

Watch Video Solution

A(2, − 3) and B( − 2, 1) ΔABC.

2x + 3y = 1,

C.

53. Find the equation of the straight line passing through the point (4,3)

and making intercepts on the coordinate axes whose sum is -1.

A.  and 

B.  and 

− = 1
x

2

y

3
+ = 1

x

−2

y

1

− = − 1
x

2

y

3
+ = − 1

x

−2

y

1

https://dl.doubtnut.com/l/_OQ6N0MjanUdS
https://dl.doubtnut.com/l/_PewAGuohqeVs


C.  and 

D.  and 

Answer: A

Watch Video Solution

+ = 1
x

2

y

3
+ = 1

x

2

y

1

+ = − 1
x

2

y

3
+ = − 1

x

−2

y

1

54. about to only mathematics

A. hyperbola

B. a parabola

C. an ellipse

D. a straight line

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_PewAGuohqeVs
https://dl.doubtnut.com/l/_yUTaOLDqjfCz


55. A straight line L through the point (3,-2) is inclined at an angle  to

the line  If L also intersects the x-axis then the equation of L

is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

√3x + y = 1

√3x + y + 2 − 3√3 = 0

y − √3x + 2 + 3√3 = 0

√3y − x + 3 + 2√3 = 0

√3y + x − 3 + 2√3 = 0

56. IfA(2,-3) and B(-2, 1) are two vertices of a triangle and third vertex

moves on the line 2x +3y 9,th the locus of the centroid of the triangle is

21. AIEEE-2011 (1) x-y=1 (2) 2x + 3y = 1 (3) 2x + 3y = 3 (4) 2x-3y = 1

A. 2x + 3y = 1

https://dl.doubtnut.com/l/_UjMCOZWK08dn
https://dl.doubtnut.com/l/_QAtLTK3RBjtq


B. 2x + y = 3

C. 2x - 3y = 1

D. x - y = 1

Answer: A

Watch Video Solution

57. A ray of light along  gets reflected upon reaching x-

axis, the equation of the reflected ray is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + √3y = √3

y = x + √3

√3y = x − √3

y = √3x − √3

√3y = x − 1

https://dl.doubtnut.com/l/_QAtLTK3RBjtq
https://dl.doubtnut.com/l/_hms3oog8uTnB


58. Let 
 be the median of the
 triangle with vertices 


 Then equation of the
 line passing

through 
 and parallel to 
 is
 



 


A. 4x + 7y + 3 = 0

B. 2x - 9y - 11 = 0

C. 4x - 7y + 11 = 0

D. 2x + 9y + 7 = 0

Answer: D

Watch Video Solution

PS

P (2, 2), Q(6, − 1)andR(7, 3)

(1, − 1) PS 2x − 9y − 7 = 0

2x − 9y − 11 = 0 2x + 9y − 11 = 0 2x + 9y + 7 = 0

59. For a point 
in the plane, let 
be the distances of the

point 
 from the lines 
respectively. The area of

P d1(P )andd2(P )

P x − y = 0andx + y = 0

https://dl.doubtnut.com/l/_hms3oog8uTnB
https://dl.doubtnut.com/l/_eQ53Wu3wFd3l
https://dl.doubtnut.com/l/_sWJKcbGgIAxi


the region 
consisting of all points 
 lying in the first quadrant of the

plane and satisfying 
is

A. 4 sq.units

B. 6 units

C. 8 sq. units

D. 2 sq. units

Answer: B

Watch Video Solution

R P

2 ≤ d1(P ) + d2(P ) ≤ 4,

60. The area of region bounded by the lines y=x,y=0 and

 is

A. 

B. 

C. 

x = sin− 1(a4 + 1) + cos − 1(a4 + 1) − tan− 1(a4 + 1)

−
π

8
a2

4

−
π2

8
a2

2

π2

16

https://dl.doubtnut.com/l/_sWJKcbGgIAxi
https://dl.doubtnut.com/l/_2Hfzp5nYEtx0


D. 

Answer: D

Watch Video Solution

π2

32

61. A ray of light is incident along a line which meets another line,

, at the point (0,1). The ray is then reflected from this

point along the line, . Then the equation of the line of

incidence of the ray of light is:

A. 41x + 38y - 38 = 0

B. 41 x - 38y + 38 = 0

C. 41x + 25y - 25 = 0

D. 41 x - 25y + 25 = 0

Answer: B

Watch Video Solution

7x − y + 1 = 0

y + 2x = 1

https://dl.doubtnut.com/l/_2Hfzp5nYEtx0
https://dl.doubtnut.com/l/_HrdJCDSclIMB


62. Two sides of a rhombus are along the lines x-y+1=0 and 7x-y-5=0. If its

diagonals intersect at (-1, -2), then which one of the following is a vertex

of this rhombus?

A. (-3 , -8)

B. 

C. 

D. (-3 , -9)

Answer: B

Watch Video Solution

( , − )
1

3

8

3

( − , − )
10

3
7
3

63. In a triangle ABC , right angled at the vertex A , if the position vectors

of A , B and C are respectively  and 

 , then the point (p,q) lies on a line

A. parallel to y-axis

3 î + ĵ − k̂, − î + 3ĵ + pk̂

5 î + qĵ − 4k̂

https://dl.doubtnut.com/l/_0uAN1jNjZn1x
https://dl.doubtnut.com/l/_kVuHgoRT7aaf


B. making an acute angle with the positive direction of x-axis

C. parallel to x-axis

D. making an obtuse angle with the positive direction of x axis

Answer: B

Watch Video Solution

64. If a variable line drawn through the intersection of the line

, meets the coordinate axes at A and B,

 , then the locus of the midpoint of AB is:

A. 7x y = 6 ( x + y)

B. 6xy = 7(x + y)

C. 

D. 

Answer: A

+ = 1& + = 1
x

3

y

4
x

4

y

3

(A ≠ B)

4(x + y)2 − 28(x + y) + 49 = 0

14(x + y)2 − 97(x + y) + 168 = 0

https://dl.doubtnut.com/l/_kVuHgoRT7aaf
https://dl.doubtnut.com/l/_gYbyPlu3jMv5


Section 1 Solved Mcqs Example

Section Ii Assertion Reason Type Mcqs

Watch Video Solution

1. Two vertices of a triangle are (3,-2) and (-2,3) and its orthocentre is (-6,1)

. Then the third vertex of this triangle can not lie on the line

A. 6 x + y = 0

B. 4x + y = 2

C. 5x + y = 2

D. 3x + y = 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gYbyPlu3jMv5
https://dl.doubtnut.com/l/_qJ0GNsQzrh1G


1. Statement -1 : The lines (a + b) x + 2(a - b) y = 2a are concurrent at the

point (1, 1/2) . 

Statement-2 :  represents the equation of family of lines

passing through the intersection of the lines  and  for all

non - zero finite value of 

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 1

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: A

Watch Video Solution

L1 + λL2 = 0

L1 = 0 L2 = 0

λ

https://dl.doubtnut.com/l/_LAlWQAkY1u7k


2. Statement-1: Reflection of the point (-3, 2) in the line x + y = 0 is (-2,

3).Statement-2: The reflection of a point  in the line ax+by+c=0 is

the point if  lies on the line

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 2

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: C

Watch Video Solution

P (α, β)

Q(α' , β' ) ( , )
α + α'

2

β + β'

2

3. Statement - 1 : If the perpendicular bisector of the line segment joining

points A (a,3) and B( 1,4) has y-intercept -4 , then . 
a = ± 4

https://dl.doubtnut.com/l/_fY1putzFLOKu
https://dl.doubtnut.com/l/_SG6t1JKTpMmI


Statement- 2 : Locus of a point equidistant from two given points is the

perpendicular bisector of the line joining the given points .

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 3

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: A

Watch Video Solution

4. STATEMENT-1: The lines

 are

concurrent if  


a1x + b1y + c1 = 0a2x + b2y + c2 = 0, a3x + b3y + c2 = 0

∣
∣
∣
∣

a1 b1 c1

a2 b2 c2

a3 b3 c3

∣
∣

∣
∣

= 0.

https://dl.doubtnut.com/l/_SG6t1JKTpMmI
https://dl.doubtnut.com/l/_z9UwnYXuuyVh


STATEMENT-2: The area of the triangle formed by three concurrent lines is

always zero.

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 4

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: A

Watch Video Solution

5. Statement -1 : The circumcentre of the triangle formed by the lines x + y

= 0 , x - y = 0 and x + 5 = 0 ( - 5 , 0) . 

Statement-2 : Cicumcentre of a triangle lies inside the triangle

https://dl.doubtnut.com/l/_z9UwnYXuuyVh
https://dl.doubtnut.com/l/_k4RGHVIdvwsH


A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 5

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: C

Watch Video Solution

6. Statement 1: Each point on the line 
is equidistant from

the lines 
Statement 2: The locus of

a point which is equidistant
from two given lines is the angular bisector

of the two lines.

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 6

y − x + 12 = 0

4y + 3x − 12 = 0, 3y + 4x − 24 = 0

https://dl.doubtnut.com/l/_k4RGHVIdvwsH
https://dl.doubtnut.com/l/_AtKzRrfZloNc


B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: A

Watch Video Solution

7. Prove that the locus of the centroid of the triangle whose vertices are


and 
, where 
is a parameter, is

circle.

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 7

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

(a cos t, a sin t), (b sin t, − b cos t), (1, 0) t

https://dl.doubtnut.com/l/_AtKzRrfZloNc
https://dl.doubtnut.com/l/_HZad0JAdY30P


D. Statement - 1 is False , Statement -2 is True .

Answer: B

Watch Video Solution

8. Statement -1 : The line 3x + 2y = 24 meets the coordinates axes at A and

B , and the perpendicular bisector of AB meets the line through (0,-1)

parallel to the x-axis at C . The area of  ABC is 91 square units . 

Statement-2 : Area of the triangle with vertices at (a,0) , (0,b) and (a , b) is

ab/2 sq. units .

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 8

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Δ

https://dl.doubtnut.com/l/_HZad0JAdY30P
https://dl.doubtnut.com/l/_4NQOnrJtUCK2


Answer: B

Watch Video Solution

9. Statement - 1 : If non-zero numbers a , b , c are in H.P. , then the

equation  represents a family of concurrent lines . 


Statement- 2 : A linear equation px + qy = 1 in x , y represents a family of

straight lines passing through a fixed point iff there is a linear relation

between p and q .

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 9

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: A

+ =
x

a

y

b

1

c

https://dl.doubtnut.com/l/_4NQOnrJtUCK2
https://dl.doubtnut.com/l/_8mj2unV6TjLL


Watch Video Solution

10. Statement - 1 : Equations  represent two

sides of an equilateral triangle having one vertex (2 , 3) and x + y - 2 = 0 as

the opposite side . 

Statement - 2 : The equation of the lines passing through  and

making constant angle  with the line y = mx + c are given by 

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 10

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: A

Watch Video Solution

(2 ± √3)x − y = 1 ± 2√3

(x1, y1)

α

y − y1 = (x − x1)
m ± tanα

1 ± tanα

https://dl.doubtnut.com/l/_8mj2unV6TjLL
https://dl.doubtnut.com/l/_keT600TP3Pjl


Watch Video Solution

11. Statement - 1 : For the straight lines 3x - 4y + 5 = 0 and 5x + 12 y - 1 = 0 ,

the equation of the bisector of the angle which contains the origin is 16 x

+ 2 y + 15 = 0 and it bisects the acute angle between the given lines . 

statement - 2 : Let the equations of two lines be  and 

 where  and  are positive . Then , the bisector of

the angle containing the origin is given by 

 

If  , then the above bisector bisects the obtuse angle

between given lines .

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 11

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

a1x + b1y + c1 = 0

a2x + b2y + c2 = 0 c1 c2

=
a1x + b1y + c1

√a2
2 + b2

1

a2x + b2y + c2

√a2
2 + b2

2

a1a2 + b1b2 > 0

https://dl.doubtnut.com/l/_keT600TP3Pjl
https://dl.doubtnut.com/l/_vgaKqS5SYINZ


Answer: D

Watch Video Solution

12. ABC is a triangle formed by the lines xy = 0 and x + y = 1 . 

Statement - 1 : Orthocentre of the triangle ABC is at the origin . 

Statement - 2 : Circumcentre of ABC is at the point (1/2 , 1/2) .

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 12

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: B

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_vgaKqS5SYINZ
https://dl.doubtnut.com/l/_OaamNRyNhITc


13. The line 
 and 
 intersect the line 


 at P and Q respectively. The
 bisector of the acute angle

between 
 and 
 intersects 
 at R.
 Statement-1 : The ratio 

equals 
Statement-2 : In any triangle, bisector of an angle divides

the triangle into two
similar triangles.
 Statement-1 is true, Statement-2 is

true ; Statement-2 is correct
 explanation for Statement-1
 Statement-1 is

true, Statement-2 is true ; Statement-2 is not a correct explanation for

Statement-1
Statement-1 is true, Statement-2 is false
Statement-1 is false,

Statement-2 is true

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 13

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

D. Statement - 1 is False , Statement -2 is True .

Answer: C

L1 : y − x = 0 L2 : 2x + y = 0

L3 : y + 2 = 0

L1 L2 L3 PR :RQ

2√2: √5

https://dl.doubtnut.com/l/_wXaczzL0BZkq


Watch Video Solution

14. The line 
 and 
 intersect the line 


 at P and Q respectively. The
 bisector of the acute angle

between 
 and 
 intersects 
 at R.
 Statement-1 : The ratio 

equals 
Statement-2 : In any triangle, bisector of an angle divides

the triangle into two
similar triangles.
 Statement-1 is true, Statement-2 is

true ; Statement-2 is correct
 explanation for Statement-1
 Statement-1 is

true, Statement-2 is true ; Statement-2 is not a correct explanation for

Statement-1
Statement-1 is true, Statement-2 is false
Statement-1 is false,

Statement-2 is true

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 14

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

L1 : y − x = 0 L2 : 2x + y = 0

L3 : y + 2 = 0

L1 L2 L3 PR :RQ

2√2: √5

https://dl.doubtnut.com/l/_wXaczzL0BZkq
https://dl.doubtnut.com/l/_WuDeDFoW72ty


Section Ii Assertion Reason Type Mcqs

D. Statement - 1 is False , Statement -2 is True .

Answer: A

Watch Video Solution

1. Let L be the line y = 2x , in the two dimensional plane . 

Statement 1 : The image of the point (0,1) in L is the point (4/5 , 3/5) 

Statement 2 : The points (0,1) and (4/5 , 3/5) lie on opposite sides of the

line L and are at equal distance from it .

A. Statement -1 is True , Statement - 2 is true , Statement- 2 is a correct

explanation for statement - 15

B. Statement-1 is True , Statement-2 is True , Statement -2 is not a

correct explanation for Statement - 1 .

C. Statement-1 is True , Statement - 2 is False .

https://dl.doubtnut.com/l/_WuDeDFoW72ty
https://dl.doubtnut.com/l/_RkOZJbufVd0S


Exercise

D. Statement - 1 is False , Statement -2 is True .

Answer: A

Watch Video Solution

1. about to only mathematics

A. a straight line parallel to x-axis

B. circle through origin

C. circle with centre at the origin

D. a straight line parallel to y-axis

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RkOZJbufVd0S
https://dl.doubtnut.com/l/_snD0ztyP5MS7
https://dl.doubtnut.com/l/_Ct2Ryi8BhwiU


2. Find the locus of the mid-point of the portion of the line


which is intercepted between the axes.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x cosα + y sinα = p

x2 + y2 = 4p2

+ =
1

x2

1

y2

4

p2

x2 + y2 =
4

p2

+ =
1

x2

1

y2

2

p2

3. Find the locus of the point of intersection of
 lines


and 
is a
variable).

A. 

B. 

C. 

x cosα + y sinα = a x sinα − y cosα = b(α

2(x2 + y2) = a2 + b2

x2 − y2 = a2 − b2

x2 + y2 = a2 + b2

https://dl.doubtnut.com/l/_Ct2Ryi8BhwiU
https://dl.doubtnut.com/l/_MuFWOOajNotD


D. none of these

Answer: C

Watch Video Solution

4. if  and  coordinates of a point  in plane are given by 

where  is a aprameter and 

the constants. Then the locus of the point  is a parabola then whose

vertex is:

A. a circle

B. a parabola

C. an ellipse

D. none of these

Answer: B

Watch Video Solution

x y P x − y

x = (u cosα)t, y = (u sinα)t − gt21

2
t u, α, g

P

https://dl.doubtnut.com/l/_MuFWOOajNotD
https://dl.doubtnut.com/l/_JJJ9mfRgsd0M


5. If 
 are the
 vertices of 


then as 
varies,
find the locus of its centroid.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A(cosα, sinα), B(sinα, − cosα), C(1, 2)

ABC, α

x2 + y2 − 2x − 4y + 1 = 0

3(x2 − y2) − 2x − 4y + 1 = 0

x2 + y2 − 2x − 4y + 3 = 0

6. A and B are two fixed points. Draw the locus of a point P such that

angle .

A. a circle

B. an ellipse

C. a parabola

APB = 90∘

https://dl.doubtnut.com/l/_7W36qKOj37jc
https://dl.doubtnut.com/l/_m0hQ7uWOXv6G


D. none of these

Answer: A

Watch Video Solution

7. If a variable line passes through the point of intersection of the line

 and  and meets the coordinate axes in A

and B, then the locus of the mid-point of AB is:

A. x + 3y = 0

B. x + 3y = 10

C. x + 3y = 10xy

D. none of these

Answer: C

Watch Video Solution

x + 2y − 1 = 0 2x − y − 1 = 0

https://dl.doubtnut.com/l/_m0hQ7uWOXv6G
https://dl.doubtnut.com/l/_Up6e94cSATNs
https://dl.doubtnut.com/l/_gvPKhHrfupT1


8. A variable straight line is drawn through the point of intersection of

the straight lines 
 and 
 and meets the

coordinate axes at 
and 
Show that the locus of the midpoint of 

is the curve 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

+ = 1
x

a

y

b
+ = 1

x

b

y

a

A B. AB

2xy(a + b) = ab(x + y)

αβ(x + y) = xy(α + β)

αβ(x + y) = 2xy(α + β)

(α + β)(x + y) = 2αβxy

9. The nearest point on the line  from the origin is

A. (-4,5)

B. (3 , -4)

3x − 4y = 25

https://dl.doubtnut.com/l/_gvPKhHrfupT1
https://dl.doubtnut.com/l/_Hl28rr6mZbiu


C. (3,4)

D. ( 3, 5)

Answer: B

Watch Video Solution

10. The distance between the lines 

is_____________

A. 

B. 

C. 2

D. 

Answer: A

Watch Video Solution

(x + 7y)2 + 4√2(x + 7y) − 42 = 0

4/5

4√2

10√2

https://dl.doubtnut.com/l/_Hl28rr6mZbiu
https://dl.doubtnut.com/l/_qUXm8GBgo8nW
https://dl.doubtnut.com/l/_apXNpZKRoeu3


11. The image of the point (-1,3) by the line x - y = 0 , is

A. (3,-1)

B. ( 1 , -3)

C. (-1,-1)

D. (3 ,3)

Answer: b

Watch Video Solution

12. If  are three vertices of a

square, then the diagonal through B is

A. 

B. 

C. y = x

D. none of these

A(1, 1), B(√3 + 1, 2) and C(√3, √3 + 2)

y = (√3 − 2)x + (3 − √3)

y = 0

https://dl.doubtnut.com/l/_apXNpZKRoeu3
https://dl.doubtnut.com/l/_U1QzfRiJzhf4


Answer: D

Watch Video Solution

13. If 
 and 
 are two vertices of a triangle of area 


 then its third vertex lies on
 (a) 
 (b) 
 (c)


(d) 

A. y = x

B. 5x + y + 12 = 0

C. x + 5y - 4 = 0

D. none of these

Answer: C

Watch Video Solution

( − 4, 0) (1, − 1)

4sq
.
units, y = x 5x + y + 12 = 0

x + 5y − 4 = 0 x + 5y + 12 = 0

https://dl.doubtnut.com/l/_U1QzfRiJzhf4
https://dl.doubtnut.com/l/_fxhMkITL8jWw


14. If the line  passing through the intersection of

 and  is perpendicular to one of them, then

the value of  is:

A. x + y + 3 = 0

B. x - y -3 = 0

C. x - 3y - 5 =0

D. x -3y + 5 = 0

Answer: D

Watch Video Solution

x + y − 1 = = 0
λ

2

x − y + 1 = 0 3x + y − 5 = 0

λ

15. The distance between the lines  and 

 is :

A. 4

B. 16

5x + 12y + 65 = 0

5x + 12y − 39 = 0

https://dl.doubtnut.com/l/_7uZDwKwnA6Di
https://dl.doubtnut.com/l/_sinO5RHJ95yT


C. 2

D. 8

Answer: D

Watch Video Solution

16. Prove that the locus of the centroid of the triangle whose vertices are


and 
, where 
is a parameter, is

circle.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a cos t, a sin t), (b sin t, − b cos t), (1, 0) t

(3x − 1)2 + (3y)2 = a2 − b2

(3x − 1)2 + (3y)2 = a2 + b2

(3x + 1)2 + (3y)2 = a2 + b2

(3x + 1)2 + (3y)2 = a2 − b2

https://dl.doubtnut.com/l/_sinO5RHJ95yT
https://dl.doubtnut.com/l/_7D1FaS8y77rc


17. The equation of the line with slope 
 and which in concurrent

with the lines 
is
 
b. 
c. 
d.

1

A. 3x + 2y - 2 = 0

B. 3x + 2y - 63 = 0

C. 2y - 3x -2 = 0

D. none of these

Answer: A

Watch Video Solution

−3/2

4x = 3y − 7 = 0 and 8x + 5y − 1 = 0 2√2 2 √2

18. The point of intersection of the lines  and 

lies on

A. x - y = 0

+ = 1
x

a

y

b
+ = 1

x

b

y

a

https://dl.doubtnut.com/l/_7D1FaS8y77rc
https://dl.doubtnut.com/l/_numyeAf4P1Vw
https://dl.doubtnut.com/l/_CjoQoahByFyp


B. (x + y) ( a + b) = 2ab

C. (lx + my) (a + b) = (l + m) ab

D. all of these

Answer: D

Watch Video Solution

19. Find the equation of the bisector of the obtuse angle between the

lines
 
and 

A. 99x - 27y - 81 = 0

B. 11x - 3y + 9 = 0

C. 21x + 77y - 101 = 0

D. 21x + 77y + 101 = 0

Answer: B

Watch Video Solution

3x − 4y + 7 = 0 12x + 5y − 2 = 0.

https://dl.doubtnut.com/l/_CjoQoahByFyp
https://dl.doubtnut.com/l/_XJzgwR1q71Sk


20. If the equation of the locus of a point equidistant from the points


 and 
 is 
 , then find the

value of .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(a1, b1) (a2, b2) (a1 − a2)x + (b1 − b2)y + c = 0

c

a2
1 − a2

2 + b2
1 − b2

2

√a2
1 + b2

1 − a2
2 − b2

2

(a2
1 + a2

2 + b2
1 + b2

2)
1

2

(a2
2 + b2

2 − a2
1 − b2

1)
1

2

21. The equations of perpendicular bisectors o the sides AB and AC of a

triangle ABC are 
respectively. If the point 


find the equation of the line 

x − y + 5 = 0 and x + 2y = 0

A is (1, − 2), BC.

https://dl.doubtnut.com/l/_XJzgwR1q71Sk
https://dl.doubtnut.com/l/_dcQD8Yd1VBkY
https://dl.doubtnut.com/l/_1cq5Jq57yY5D


A. 23x + 14y - 40 = 0

B. 23x + 14y + 40 = 0

C. 14x + 23 y -40 = 0

D. 14 x + 23y + 40 = 0

Answer: C

Watch Video Solution

22. If each of the points 
 lies on the line joining the

points 
 , then the point 
 lies on the line.

(a) 
 (b) 
 (c) 
 (d) 

A. 6 (x +y ) - 25 = 0

B. 2x + 6y + 1 = 0

C. 2 x + 3y - 6 = 0

D. 6(x + y) + 25 = 0

(x1, 4), ( − 2, y1)

(2, − 1)and(5, − 3) P (x1, y1)

6(x + y) − 25 = 0 2x + 6y + 1 = 0 2x + 3y − 6 = 0

6(x + y) + 25 = 0

https://dl.doubtnut.com/l/_1cq5Jq57yY5D
https://dl.doubtnut.com/l/_Sryo7IPW19EL


Answer: B

Watch Video Solution

23. Equation of the line passing through the point  and

perpendicular to the line  is 

.

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(a cos3 θ, a sin3 θ)

x secθ + y cos ecθ = a

x cos θ − y sin θ = a sin 2θ

x cos θ + y sin θ = 2a cos 2θ

x sin θ − y cos θ = 2a sin 2θ

x sin θ + y cos θ = 2a cos θ

https://dl.doubtnut.com/l/_Sryo7IPW19EL
https://dl.doubtnut.com/l/_dvzQFqwy3uPN


24. The ends of the base of an isosceles triangle are at

 The equation of one side is The equation of

the other side, is

A. x + 2y - a = 0

B. x + 2y = 2a

C. 3x + 4y - 4a = 0

D. 3x - 4y + 4a = 0

Answer: D

Watch Video Solution

(2a, 0) and (0, a). x = 2a.

25. The straight line 

form a triangle which is

A. right angled

B. equilateral

x + y − 4 = 0, 3x + y − 4 = 0, x + 3y − 4 = 0

https://dl.doubtnut.com/l/_wpbNv91bdl9u
https://dl.doubtnut.com/l/_EMyKLvfV1x8z


C. isosceles

D. none of these

Answer: C

Watch Video Solution

26. Prove that the lines

 are concurrent

if  or  where  is a complex cube

root of unity .

A. a + b = c

B. b + c = a

C. c + a = b

D. a + b + c = 0

Answer: D

W t h Vid S l ti

ax + by + c = 0, bx + cy + a = 0 and cx + ay + b = 0

a + b + c = 0 a + bω + cω2 + cω = 0 ω

https://dl.doubtnut.com/l/_EMyKLvfV1x8z
https://dl.doubtnut.com/l/_JeHcqbJdko3L


Watch Video Solution

27. The equation of one side of a rectangle is  and the

coordinates of two of its vertices are . Then, the area

of the rectangle is

A. 20

B. 40

C. 10

D. 30

Answer: A

Watch Video Solution

3x − 4y − 10 = 0

( − 2, 1) and (2, 4)

28. Given the four lines with the equations

then:

x + 2y − 3 = 0, 3x + 4y − 7 = 0  , 2x + 3y − 4 = 0, 4x + 5y − 6 = 0

https://dl.doubtnut.com/l/_JeHcqbJdko3L
https://dl.doubtnut.com/l/_50DUGebNFmju
https://dl.doubtnut.com/l/_3CbDhLMDhy2D


A. concurrent

B. sides of a square

C. sides of a rhombus

D. none of these

Answer: D

Watch Video Solution

29. about to only mathematics

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x + 2y ≥ 0

2x + y − 13 ≥ 0

2x − 3y + 12 ≤ 0

−2x + y ≥ 0

https://dl.doubtnut.com/l/_3CbDhLMDhy2D
https://dl.doubtnut.com/l/_OLXyXk5u8Nr6


30. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7/√5

7/√13

√5

√13

31. Let the base of a triangle lie along the line x = a and be of length a. The

area of this triangles is , if the vertex lies on the line

A. x = -a, x = 2a

B. x = 0 , x = a

C. x = a/2 , x = -a

a2

https://dl.doubtnut.com/l/_OLXyXk5u8Nr6
https://dl.doubtnut.com/l/_s51rSBfGeG4S
https://dl.doubtnut.com/l/_rHQrUD6vOeMr


D. none of these

Answer: B

Watch Video Solution

32. The equation of straight line passing through point (1,2) and having

intercept of length 3 between straight line 3x+4y=12 and 3x+4y=24 is

A. 7x + 24y - 55 = 0

B. 24x + 7y - 38 = 0

C. 24x - 7y - 10 = 0

D. 7x - 24y + 41 = 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rHQrUD6vOeMr
https://dl.doubtnut.com/l/_1URRdVHXvBgr


33. The point (4,1) undergoes the following two successive

transformations 

(i) Reflection about the line  


(ii) Translation through a distance of 2 units along the positive x-axis. 

The coordinates of the new point are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x

(1/√2, 7/√2)

( − 2, 7√2)

( − 1/√2, 7/√2)

(√2, 7√2)

34. A line passes through the point (2,2) and is perpendicular to the lines


Its y-intercept is
 
b. 2/3 c. 1 d. 4/33x + y = 3. 1/3

https://dl.doubtnut.com/l/_ZYEGB3GGBD2g
https://dl.doubtnut.com/l/_DzTw51yOnZVx


A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

1

3

2

3

4
3

35. The coordinates of a point on the lin y = x where perpendicular

distance from the line  is units are

A. 

B. 

C. 

D. none of these

Answer: C

3x + 4y = 12

( − , − ), ( − , − )
8

7

8

7

32

7

32

7

( , ), ( , )
8

7

8

7

32

7

32

7

( − , − ), ( , )
8

7

8

7

32

7

32

7

https://dl.doubtnut.com/l/_DzTw51yOnZVx
https://dl.doubtnut.com/l/_IywnyWgWIebl


Watch Video Solution

36. The point  is transiated parallel to in the first quadrant

through a unith distance. The coordinates of the point in new position

are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (1, 1) 2x = y

(1 ± , 1 ± )
2

√5

1

√5

(1 ± , 1 ± )
1

√5

2

√5

( , )
1

√5

2

√5

( , )
2

√5

1

√5

37. about to only mathematics

A. √3x − y = 2√3

https://dl.doubtnut.com/l/_IywnyWgWIebl
https://dl.doubtnut.com/l/_UNm8yKaIsmST
https://dl.doubtnut.com/l/_k10mEdR9QldQ


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

√3x + y = 2√3

x + √3y = 2√3

38. The limiting position of the point of intersection of the lines

 as c tends to 1, is

A. (-5,4)

B. (5 , -4)

C. (4 , -5)

D. none of these

Answer: A

Watch Video Solution

3x + 4y = 1 and (1 + c)x + 3c2y = 2

https://dl.doubtnut.com/l/_k10mEdR9QldQ
https://dl.doubtnut.com/l/_afajH3xWxbqE


39. Given three straight lines 

and 
. Then,
a)they form a triangle
 b)one line bisects the

angle between the other two
c) two of them are parallel

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2x + 11y − 5 = 0, 24x + 7y − 20 = 0,

4x − 3y − 2 = 0

2p1 = p2

p1 = p2

p1 = 2p2

40. P(2,1) , Q (4,-1) , R (3,2) are the vertices of a triangle and if through P

and R lines parallel to opposite sides are drawn to intersect in S , then

the area of PQRS , is

https://dl.doubtnut.com/l/_afajH3xWxbqE
https://dl.doubtnut.com/l/_P65EHQUcv04J
https://dl.doubtnut.com/l/_sl6ptXXsPOov


A. 6

B. 4

C. 8

D. 12

Answer: B

Watch Video Solution

41. If a line passes through the point (2,2) and encloses a triangle of area

A square units with the coordinate axes , then the intercepts made by the

line on the coordinate axes are the roots of the equations

A. 

B. 

C. 

D. 

x2 ± Ax ± 2A = 0

x2 ± Ax ± 2A = 0

x2 ± 2Ax ± A = 0

x2 ± 2Ax ± A = 0

https://dl.doubtnut.com/l/_sl6ptXXsPOov
https://dl.doubtnut.com/l/_1uhfz10mm89W


Answer: A

Watch Video Solution

42. Points on the line x + y = 4 which are equidistant from the lines |x| = |y|

, are

A. (4,0) , (0,4)

B. (-4,0), (0, -4)

C. (4,0) , (-4, 0)

D. none of these

Answer: A

Watch Video Solution

43. If AB=4 and the ends A, B move on the coordinate axes, the locus of

the mid-point of AB

https://dl.doubtnut.com/l/_1uhfz10mm89W
https://dl.doubtnut.com/l/_ganskaQA3PGh
https://dl.doubtnut.com/l/_eGRNtEijCr4y


A. a straight line

B. a pair of straight lines

C. a circle

D. none of these

Answer: C

Watch Video Solution

44. A straight line 
is perpendicular to the line 
. The area of

the triangle formed by line 
 and the coordinate axes is 5. Find the

equation of line 

A. 

B. 

C. 

D. 

L 5x − y = 1

L,

L.

x + 5y + 5 = 0

x + 5y ± √2 = 0

x + 5y ± √5 = 0

x + 5y ± 5√2 = 0

https://dl.doubtnut.com/l/_eGRNtEijCr4y
https://dl.doubtnut.com/l/_wCVQfjcOt050


Answer: D

Watch Video Solution

45. Let 
be the origin. If 
are points such

that 
then


A. P lies either in side  or in third quadrant

B. P cannot be inside 

C. P lies inside the 

D. none of these

Answer: A

Watch Video Solution

O A(1, 0)andB(0, 1)andP (x, y)

xy > 0andx + y < 1, P

ΔOAB

ΔOAB

ΔOAB

46. about to only mathematics

https://dl.doubtnut.com/l/_wCVQfjcOt050
https://dl.doubtnut.com/l/_LOkWKjWgDdtM
https://dl.doubtnut.com/l/_WNlkgD5zQd7w


A. x - 3y - 7 = 0 or , 3x + y - 31 = 0

B. x - 3y - 31 = 0 or , 3x + y - 7 = 0

C. x - 3y - 31 = 0 or , 3x + y + 7 = 0

D. none of these

Answer: C

Watch Video Solution

47. The straight line passing through  and making an angle 

with x-axis intersects  in Q then  =________________

A. 

B. 

C. 

D. 

Answer: B

P (x1, y1) α

Ax + By + C = 0 PQ

∣
∣
∣

∣
∣
∣

Ax1 + By1 + C

√A2 + B2

−
Ax1 + By1 + C

A cosα + B sinα

Ax1 + By1 + C

A cosα + B sinα

−
Ax1 + By1 + C

A sinα + B cosα

https://dl.doubtnut.com/l/_WNlkgD5zQd7w
https://dl.doubtnut.com/l/_LKRzgrMEfZck


Watch Video Solution

48. Find the value of , if the lines 3x-4y-13=0, 8x-11y-33, and

A. 20

B. -7

C. 7

D. -20

Answer: B

Watch Video Solution

λ

2x − 3y + λ = 0are concurrent.

49. The equation of line on which the perpendicular from the origin make


angle with the x-axis and which form a triangle of area 
with the

axes is
a. 
b. 
 c. 

d. 

300 50

√3

√3x + y − 10 = 0 √3x + y + 10 = 0 x + √3y − 10 = 0

x − √3y − 10 = 0

https://dl.doubtnut.com/l/_LKRzgrMEfZck
https://dl.doubtnut.com/l/_KQspAvQ5YMjy
https://dl.doubtnut.com/l/_9PXPqRMrIHCH


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x + √3y ± 10 = 0

√3x + y ± 10 = 0

x ± √3y − 10 = 0

50. The area (in square units ) of the triangle formed by y-axis , the

straight line L passing through (1,1) and (2,0) and the straight line

perpendicular to the line L and passing through (1/2, 0) , is

A. 

B. 

C. 

D. 

25

8

25

4

25

16

25

2

https://dl.doubtnut.com/l/_9PXPqRMrIHCH
https://dl.doubtnut.com/l/_kDgb91rHi9f0


Answer: C

Watch Video Solution

51. Find all points on 
 that lie at a unit distance from the line 

A. (3,1) and (-7,11)

B. (-3,7) and (2,2)

C. (-3,7) and (-7,11)

D. none of these

Answer: A

Watch Video Solution

x + y = 4

4x + 3y − 10 = 0.

52. Find the equations of the lines through the point of intersection of

the lines 
and whose distance fromx − 3y + 1 = 0 and 2x + 5y − 9 = 0

https://dl.doubtnut.com/l/_kDgb91rHi9f0
https://dl.doubtnut.com/l/_aY5mlYtmkMEF
https://dl.doubtnut.com/l/_ZOhAM63od2ya


the origin is 

A. 2x - y = 5

B. x + 2y = 5

C. 2x + y = 5

D. x + 2y = 1

Answer: C

Watch Video Solution

√5.

53. The number of lines that are parallel to  and have an

intercept  between the coordinate axes is

A. 1

B. 2

C. 4

D. infinitely many

2x + 6y − 7 = 0

10

https://dl.doubtnut.com/l/_ZOhAM63od2ya
https://dl.doubtnut.com/l/_YJ2aTegEfBG0


Answer: B

Watch Video Solution

54. The ratio in which the line segment joining (-1,1) and (5,7) is divided by

the line  is

A. 2

B. 

C. 3

D. none of these

Answer: B

Watch Video Solution

x + y = 4

1/2

55. The image of the point (1, 3) in the line  isx + y − 6 = 0

https://dl.doubtnut.com/l/_YJ2aTegEfBG0
https://dl.doubtnut.com/l/_4hVcbxkJT6wn
https://dl.doubtnut.com/l/_aFRYTfhenWuo


A. (3,5)

B. (5,3)

C. (1,-3)

D. (-1,3)

Answer: A

Watch Video Solution

56. A triangle ABC right angled at A has points A and B as (2, 3) and (0, -1)

respectively. If BC = 5 units, then the point C is

A. (-4,2)

B. (4,2)

C. (3,-3)

D. (0,-4)

Answer: B

https://dl.doubtnut.com/l/_aFRYTfhenWuo
https://dl.doubtnut.com/l/_0kFwl8STUFC4


Watch Video Solution

57. The equation of the line passing though the intersection of

 and  and making an angle of 

with the first line is

A. x - y = 0

B. x - y + 1 = 0

C. y = 1

D. 

Answer: A

Watch Video Solution

x − √3y + √3 − 1 = 0 x + y − 2 = 0 15∘

√3x − y + 1 − √3 = 0

58. In a rhombus ABCD the diagonals AC and BD intersect at the point

(3,4) . If the point A is (1,2) the diagonal BD has the equation

https://dl.doubtnut.com/l/_0kFwl8STUFC4
https://dl.doubtnut.com/l/_ay2mngiyPdif
https://dl.doubtnut.com/l/_P9spM48LIdzi


A. x - y - 1 = 0

B. x + y - 1 = 0

C. x - y + 1 = 0

D. x + y - 7 =0

Answer: D

Watch Video Solution

59. The distance between the pair of parallel line,

 is

A. 

B. 

C. 

D. 

Answer: D

x2 + 2xy + y2 − 8ax − 8ay − 9a2 = 0

2√5a

10√a

10a

5√2a

https://dl.doubtnut.com/l/_P9spM48LIdzi
https://dl.doubtnut.com/l/_pKkR4QN9l6Ay


Watch Video Solution

60. The ratio in which the line 3x - 2y + 5 = 0 divides the join of (6,-7) and

(-2 , 3) is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

1: 1

7: 37

37: 7

61. One vertex of the equilateral triangle with centroid at the origin and

one side as  is :

A. (-1,-1)

x + y − 2 = 0

https://dl.doubtnut.com/l/_pKkR4QN9l6Ay
https://dl.doubtnut.com/l/_hjOl0PzcCD3O
https://dl.doubtnut.com/l/_3onKqtGR8Nz6


B. (2,2)

C. (-2,-2)

D. none of these

Answer: C

Watch Video Solution

62. The distance of the line x + y - 8 = 0 from (4,1) measured along the

direction whose slope is -2 , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3√5

6√5

2√5

https://dl.doubtnut.com/l/_3onKqtGR8Nz6
https://dl.doubtnut.com/l/_eUCB8hAVzq5y


63. about to only mathematics

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

64. The orthocentre of the triangle formed by the lines

 and  lies in :

A. I quadrant

B. II quadrant

C. III quadrant

x + y = 1, 2x + 3y = 6 4x − y + 4 = 0

https://dl.doubtnut.com/l/_eUCB8hAVzq5y
https://dl.doubtnut.com/l/_FCiATG4Vbo6B
https://dl.doubtnut.com/l/_CU1osjIbfVh6


D. IV quadrant

Answer: A

Watch Video Solution

65. If each of the points 
 lies on the line joining the

points 
 , then the point 
 lies on the line.

(a) 
 (b) 
 (c) 
 (d) 

A. x = 3y

B. x = - 3y

C. y = 2x + 1

D. 2x + 6y + 1 = 0

Answer: D

Watch Video Solution

(x1, 4), ( − 2, y1)

(2, − 1)and(5, − 3) P (x1, y1)

6(x + y) − 25 = 0 2x + 6y + 1 = 0 2x + 3y − 6 = 0

6(x + y) + 25 = 0

https://dl.doubtnut.com/l/_CU1osjIbfVh6
https://dl.doubtnut.com/l/_n9tTOZ59X4fP


66. The area bounded by the straight lines  and  in

square units, is

A. 

B. 1

C. 

D. 2

Answer: A

Watch Video Solution

y = 1 ±2x + y = 2,

1/2

3/2

67. The locus of a point P which divides the line joining (1, 0) and

 internally in the ratio 2 : 3 for all  is

A. straight line

B. circle

C. pair of straight lines

(2 cos θ, sin θ) θ

https://dl.doubtnut.com/l/_H1FguSEkQUpZ
https://dl.doubtnut.com/l/_LTfls9cTQJQm


D. parabola

Answer: B

Watch Video Solution

68. The area of triangle 
 is 
 The coordinates of vertex 
 are 


and those of 
are 
The vertex 
lies on the line 
.

The coordinates of 
are 


(a) 
(b) 
 
(d) 

A. (-7,-5) or (3,5)

B. (-3,-5) or (-5,7)

C. (7,5) or (3,5)

D. (-3,-5) , (7 , 5)

Answer: D

Watch Video Solution

ABC 20cm2. A

−5, 0) B (3, 0). C x − y = 2

C

(5, 3) ( − 3, − 5) ( − 5, − 7) (7, 5)

https://dl.doubtnut.com/l/_LTfls9cTQJQm
https://dl.doubtnut.com/l/_OAKw967OvYVf


69. Prove that the area of the parallelogram formed by the lines

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x cosα + y sinα = p, x cosα + ys ∈ α = q, x cos β + y sinβ = randx cos β

±
π

2

π

4

π

6

π

3

70. Find the ratio in which the line 3x+4y+2 = 0 divides the distance

between 3x+4y+5=0 and 3x+4y-5=0.

A. 

B. 

C. 

7: 3

3: 7

2: 3

https://dl.doubtnut.com/l/_MsK5gyerSyCP
https://dl.doubtnut.com/l/_9CX2kuzET7hd


D. none of these

Answer: B

Watch Video Solution

71. If the extremities of the base of an isosceles triangle are the points

(2a,0) and (0,a), and the equation of one of the sides x=2a, then the area

of the triangle is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

5a2

a25

2

25a2

2

https://dl.doubtnut.com/l/_9CX2kuzET7hd
https://dl.doubtnut.com/l/_6uzocvOtyUnI
https://dl.doubtnut.com/l/_TjAaHIps9DmA


72. The vertices of a  are .

Find the equation of the line parallel to BC and intersecting the sides OB

and OC and whose perpendicular distance from the origin is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ OBC O(0, 0), B( − 3, − 1), C( − 1, − 3)

1

2

x + y + = 0
1

2

x + y − = 0
1

2

x + y − = 0
1

√2

x + y + = 0
1

√2

73. The area (in square units) of the quadrilateral formed by two pair of

the lines

,

is

A. 

l2x2 − m2y2 − n(lx + my) = 0 and l2x2 − m2y2 + n(lx − my) = 0

n2

2|lm|

https://dl.doubtnut.com/l/_TjAaHIps9DmA
https://dl.doubtnut.com/l/_v9J0fOuXXApX


B. 

C. 

D. 

Answer: A

Watch Video Solution

n2

|lm|

n

2|lm|

n2

4|lm|

74. Find the equation of the bisector of the angle between the lines

 which contains the point 

A. 3x=19

B. 

C. 

D. none of these

Answer: A

x + 2y = 11 = 0 and 3x − 6y − 5 = 0

(1, − 3)

3y = 7

3x = 19 and 3y = 7

https://dl.doubtnut.com/l/_v9J0fOuXXApX
https://dl.doubtnut.com/l/_pfWgiBfOfrIy


Watch Video Solution

75. The line 
meets the y-axis at 
and the x-axis at 
The

perpendicular bisector of 
meets the line through 
parallel to

the x-axis at 
 If the area of triangle 
 is 
 , then the value of 

is________

A. 182 sq. units

B. 91 sq. units

C. 48 sq. units

D. none of these

Answer: B

Watch Video Solution

3x + 2y = 24 A B.

AB (0, − 1)

C. ABC A
A

13

76. A ray of light coming fromthe point (1, 2) is reflected at a point A on

the x-axis and then passes through the point (5,3). The coordinates of the

https://dl.doubtnut.com/l/_pfWgiBfOfrIy
https://dl.doubtnut.com/l/_lFAr5NizwQur
https://dl.doubtnut.com/l/_Ti3u5WhXQhcU


point A is :

A. (13/5,0)

B. (5/13,0)

C. (-7,0)

D. none of these

Answer: A

Watch Video Solution

77. If PM is the perpendicular from P(2,3) on the line , then the

coordinate of M are

A. (2,1)

B. (-1,4)

C. (1,2)

D. (4,-1)

x + y = 3

https://dl.doubtnut.com/l/_Ti3u5WhXQhcU
https://dl.doubtnut.com/l/_Xa5XpeRrnZiF


Answer: C

Watch Video Solution

78. The incentre of the triangle formed by the line  with

the coordinate axis is

A. (1/2,1/2)

B. (1/1)

C. (1,1/2)

D. (1/2,1)

Answer: B

Watch Video Solution

3x + 4y − 12 = 0

79. If one vertex of an equilateral triangle is at  1base is 

, then the length of each side, is

(2. − 1)

x + y − 2 = 0

https://dl.doubtnut.com/l/_Xa5XpeRrnZiF
https://dl.doubtnut.com/l/_ULJGy1TNH5G8
https://dl.doubtnut.com/l/_1KvMi0wdGeJB


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3/2

√2/3

2/3

3/2

80. The area of the parallelogram formed by the lines

 and 

 is (A)  (B)  (C)  (D) 

A. 

B. 

C. 

D. none of these

3x − 4y + 1 = 0, 3x − 4y + 3 = 0, 4x − 3y − 1 = 0

4x − 3y − 2 = 0, squnits
1

7
squnits

2

7
squnits

3

7

squnits
4

7

1

6

2

7

3

8

https://dl.doubtnut.com/l/_1KvMi0wdGeJB
https://dl.doubtnut.com/l/_Y4C8S8clENeD


Answer: B

Watch Video Solution

81. Points A (1, 3) and C (5, 1) are opposite vertices of a rectangle ABCD. If

the slope of BD is 2, then its equation is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − y = 4

2x + y = 4

2x + y − 7 = 0

2x + y + 7 = 0

82. The line  is-translated parallel to itself by  units in the

sense of increasing x and is then rotated by  in the clockwise

x + 2y = 4 3

30∘

https://dl.doubtnut.com/l/_Y4C8S8clENeD
https://dl.doubtnut.com/l/_kq3TrBXqeRVP
https://dl.doubtnut.com/l/_bjEPUzv6mZu0


direction about the point where the shifted line cuts the x-axis.Find the

equation of the line in the new position

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = tan(θ − 30∘ )(x − 4 − 3√5)

y = tan(30∘ − θ)(x − 4 − 3√5)

y = tan(θ + 30∘ )(x + 4 + 3√5)

y = tan(θ − 30∘ )(x + 4 + 3√5)

83. The line PQ whose equation is x-y = 2 cuts the x-axis at P, and Q is (4,2).

The line PQ is rotated about P through  in the anticlockwise direction.

The equation of the line PQ in the new position is

A. 

B. 

C. x=2

45∘

y = − √2

y = 2

https://dl.doubtnut.com/l/_bjEPUzv6mZu0
https://dl.doubtnut.com/l/_DCJOt0F8JNCz


D. 

Answer: C

Watch Video Solution

x = − 2

84. about to only mathematics

A. 4

B. 

C. 2

D. none of these

Answer: B

Watch Video Solution

−4

85. about to only mathematics

https://dl.doubtnut.com/l/_DCJOt0F8JNCz
https://dl.doubtnut.com/l/_h8gnpSBliMjH
https://dl.doubtnut.com/l/_NY2RAgZivP8s


A. (2,0),(4,4)

B. (2,4),(4,0)

C. (-2,0),(4,-4)

D. (2,0),(-4,4)

Answer: A

Watch Video Solution

86. The vertices of a diagonal of a square are  and 

Find the other vertices

A. (1,-1),(5,1)

B. (1,1),(5,-1)

C. (1,1),(-5,1)

D. none of these

Answer: C

( − 2, 4) ( − 2, − 2)

https://dl.doubtnut.com/l/_NY2RAgZivP8s
https://dl.doubtnut.com/l/_0uvmXbRk62Uc


Watch Video Solution

87. The equations of two sides of a square whose area is 25 sq.units are

 The equation of the other two sides of

the square are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3 − 4y = 0 and 4x + 3y = 0.

3x − 4y ± 25 = 0, 4x + 3y ± 25 = 0

3x − 4y ± 05 = 0, 4x + 3y ± 5 = 0

3x − 4y ± 05 = 0, 4x + 3y ± = 0

88. Centroid of the triangle, the equations of whose sides are

 is12x2 − 20xy + 7y2 = 0 and 2x − 3y + 4 = 0

https://dl.doubtnut.com/l/_0uvmXbRk62Uc
https://dl.doubtnut.com/l/_Vd3NCNbC2cWq
https://dl.doubtnut.com/l/_zznW8OxXKaIn


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − , )
7
3

7
3

( − , )
8

3

8

3

( , )
8

3

8

3

( , )
4
3

4
3

89. If the lines 

are concurrent, then 
 are in
 (a). A.P. (b). G.P. (c). H.P. (d). none of

these

A. AP

B. GP

C. HP

D. none of these

ax + 2y + 1 = 0, bx + 3y + 1 = 0andcx + 4y + 1 = 0

a, b, c

https://dl.doubtnut.com/l/_zznW8OxXKaIn
https://dl.doubtnut.com/l/_vzg6m9Fexoob


Answer: A

Watch Video Solution

90. Two vertices of a triangle are 
 and 
 If the

orthocentre of the triangle is the origin, find the coordinates
of the third

point.

A. (4,7)

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(5, − 1) ( − 2, 3)

( − 4, − 7)

( − 4, 7)

https://dl.doubtnut.com/l/_vzg6m9Fexoob
https://dl.doubtnut.com/l/_Mesh3vH6C5kK


91. If the foot of the perpendicular from the origin to a straight line is
at


, then find the equation of the line.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 4)

3x − 4y = 25

3x − 4y + 25 = 0

4x + 3y − 25 = 0

4x − 3y + 25 = 0

92. A rectangle has two opposite vertices at the points   .
If

the other vertices lie on the line 
, find the equations of the sides of

the rectangle.

A. (3,1), (3,3)

B. (3,1), (3,6)

(1, 2) and (5, 5)

x = 3

https://dl.doubtnut.com/l/_TaNI96lcfC0f
https://dl.doubtnut.com/l/_QYFmfi63zxiH


C. (3,1),(3,4)

D. none of these

Answer: B

Watch Video Solution

93. The orthocentre of the triangle formed by the lines 
 and 


is
 
(b) 
 
(d) 

A. (1/2,1/2)

B. (1/3,1/3)

C. (0,0)

D. (1/4,1/4)

Answer: C

Watch Video Solution

xy = 0

x + y = 1 ( , )
1

2

1

2
( , )

1

3

1

3
(0, 0) ( , )

1

4

1

4

https://dl.doubtnut.com/l/_QYFmfi63zxiH
https://dl.doubtnut.com/l/_wDLyJ2c1lOT2
https://dl.doubtnut.com/l/_HQYDbEdzTgws


94. A line passes through the point (2,2) and is perpendicular to the lines


Its y-intercept is
 
b. 2/3 c. 1 d. 4/3

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

3x + y = 3. 1/3

1/3

2/3

4/3

95. A line passes through (2, 2) and is perpendicular to the line

. Its  intercept is:

A. 

B. 

C. 1

3x + y = 3 y −

1/3

2/3

https://dl.doubtnut.com/l/_HQYDbEdzTgws
https://dl.doubtnut.com/l/_9BGDEB1RT8BR


D. 

Answer: D

Watch Video Solution

4/3

96. Given three straight lines 

and 
. Then,
a)they form a triangle
 b)one line bisects the

angle between the other two
c) two of them are parallel

A. form a triangle

B. are only concurrent

C. are concurrent with one line bisecting the angle between the other

two

D. none of these

Answer: C

Watch Video Solution

2x + 11y − 5 = 0, 24x + 7y − 20 = 0,

4x − 3y − 2 = 0

https://dl.doubtnut.com/l/_9BGDEB1RT8BR
https://dl.doubtnut.com/l/_9fI2yY8duR96


97. A line passes through the point of intersection of the line

 and  and makes equal intercepts with

axes. Then, equation of the line is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x + y + 1 = 0 2x − y + 3 = 0

5x + 5y − 3 = 0

x + 5y − 3 = 0

5x − y − 3 = 0

5x + 5y + 3 = 0

98. A straight line through the point 
 intersects the lines 


and 
at the point 
and 
respectively. Then

find the equation of the line 
so that triangle 
is equilateral.

A. 

(2, 2)

√3x + y = 0 √3x − y = 0 A B,

AB OAB

x − 2 = 0

https://dl.doubtnut.com/l/_9fI2yY8duR96
https://dl.doubtnut.com/l/_qWzrHnNl8mWG
https://dl.doubtnut.com/l/_OCimNEAGPjqU


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y − 2 = 0

x + y − 4 = 0

99. Find the image of the point (3,8) with respect to the line 

assuming the line to be a plane mirror.

A. (1,4)

B. (4,1)

C. (-1,-4)

D. (-4,-1)

Answer: C

Watch Video Solution

x + 3y = 7

https://dl.doubtnut.com/l/_OCimNEAGPjqU
https://dl.doubtnut.com/l/_gfMcWgVQb4TB


100. If 
 write the condition for which the equations 

represent the same line.

A. a+b=-c

B. c+a=-b

C. b+c=-a

D. a+b+c=0

Answer: D

Watch Video Solution

a ≠ b ≠ c

(b − c)x + (c − a)y + (a − b) = 0 and (b3 − c3)x + (c3 − a3)x = y + (c3

101. The range of  in the interval  such that the points (3,5) and 

 lie on the same side of the line x+y-1=0 is

A. 

θ (0, π)

(sinθ, cosθ)

(0, π/2)

https://dl.doubtnut.com/l/_gfMcWgVQb4TB
https://dl.doubtnut.com/l/_FTUUpIcCbLCz
https://dl.doubtnut.com/l/_8K6lqpokmgbe


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(0, π/4)

(π/4, π/2)

102. If P  are two

points on the same side of the line x-y=0, then  belongs to the interval

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(sin θ, 1/√2) and Q(1/√2, cos θ), − π ≤ θ ≤ π

θ

( − π/4, π/4) ∪ (π/4, 3π/4)

( − π/4, π/4)

(π/4, π/4)

https://dl.doubtnut.com/l/_8K6lqpokmgbe
https://dl.doubtnut.com/l/_wNC04VlFSpDY


103. If the point  always remains in the interior of the triangle

formed by the lines  then  lies in the

interval

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(1, α)

y = x, y = 0 and x + y = 4, α

(0, 1)

[0, 1]

[0, 4]

104. Let  be an isosceles triangle with  If base  is

parallel to x-axis and  are the slopes of medians drawn

through the angular points  then

ABC AB = BC. BC

m1 and m2

B and C,

https://dl.doubtnut.com/l/_wNC04VlFSpDY
https://dl.doubtnut.com/l/_7IegE16t5mnC
https://dl.doubtnut.com/l/_4V30AvrObOb2


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

m1, m2 = 2

m1 + m2 = 0

m1m2 = 2

m1 + 2m2 = 0

105. If a, c, b are in G.P then the line 

A. has a fixed direction

B. always passes through a fixed point

C. forms a triangle with the axes whose area is constant

D. always cuts intercepts on the axes such that their sum is zero

Answer: C

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_4V30AvrObOb2
https://dl.doubtnut.com/l/_fv4TtxVFAR00


106. If the intercept made on the line y=mx by lines y=2 and y=6 is less

than 5, then the range of values of m is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

( − ∞, − 4/3) ∪ (4/3, ∞)

( − 4/3, 4/3)

( − 3/4, 3/4)

107. If the line  intersects the x-axis at the point A and

the y-axis at the point B, then the incentre of the triangle OAB, where O is

the origin, is:

A. 

3x + 4y − 24 = 0

√10

https://dl.doubtnut.com/l/_fv4TtxVFAR00
https://dl.doubtnut.com/l/_79GA2BmKXA6D
https://dl.doubtnut.com/l/_PzVHayWy4q3E


B. 

C. 3

D. 2

Answer: A

Watch Video Solution

2√5

108. The sides of a quadrilateral are given by . The

equation of the line parallel to  which divides the

quadrilateral into two equal regions, is:

A. 

B. 

C. 

D. 4y+1=x

Answer: A

xy(x − 2)(y − 3) = 0

x − 4y = 0

x − 4y + 5 = 0

x − 4y − 5 = 0

4y = x + 1

https://dl.doubtnut.com/l/_PzVHayWy4q3E
https://dl.doubtnut.com/l/_ggOE0gGv4Yyo


Watch Video Solution

109. · The co-ordinates of foot of the perpendicular from the point 

on the line  are:

A. (1/2,3/2)

B. (-1/2,3/2)

C. (4/3,1/2)

D. (3/4,-1/2)

Answer: B

Watch Video Solution

(2, 4)

x + y = 1

110. Three vertices of a quadrilateral in order are

. If the area of the quadrilateral is 4 sq. unit.

Then the locus of the fourth vertex has the equation.

(6, 1)(7, 2)  and ( − 1, 0)

https://dl.doubtnut.com/l/_ggOE0gGv4Yyo
https://dl.doubtnut.com/l/_0YsqXiXR8Ip9
https://dl.doubtnut.com/l/_5mxbjEdCvohh


A. x-7 y=1

B. x-7 y+15=0

C. x=7y+15=0

D. 

Answer: C

Watch Video Solution

(x − 7y)2 + 14(x − 7y) − 15 = 0

111. Find the range of 
and 
lie on the opposite sides

of the line 

A. (-2,1)

B. 

C. 

D. 

Answer: B

(α, 2 + α) ( , a2)
3α

2

2x + 3y = 6.

( − ∞, − 2) ∪ (0, 1)

( − 2, 0) ∪ (1, ∞)

( − 1, 0) ∪ (2, ∞)

https://dl.doubtnut.com/l/_5mxbjEdCvohh
https://dl.doubtnut.com/l/_BCLm0xe4etrW


Watch Video Solution

112. A point moves such that the area of the triangle
formed by it with the

points (1, 5) and 
Then, find
the locus of the point.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 7)sq
.
units.

6x + y − 32 = 0

6x − y + 32 = 0

x + 6y − 32 = 0

6x − y − 32 = 0

113. Find the coordinates of the orthocentre of the triangle whose

vertices are (1, 2), (2, 3) and (4, 3).

A. (1/5,14/5)

https://dl.doubtnut.com/l/_BCLm0xe4etrW
https://dl.doubtnut.com/l/_z57sFwuC99WS
https://dl.doubtnut.com/l/_QV1aZGsHZaQl


B. (14/5,1/5)

C. (1/5,1/5)

D. (14/5,14/5)

Answer: A

Watch Video Solution

114. If the pair of straight lines  & the line 

 are concurrent then 

A. 

B. 0

C. 3

D. 1

Answer: D

Watch Video Solution

xy − x − y + 1 = 0

ax + 2y − 3 = 0 a =

−1

https://dl.doubtnut.com/l/_QV1aZGsHZaQl
https://dl.doubtnut.com/l/_68rnjeVsW4Rg


115. If (-2,6) is the image of the point (4,2) with respect to line L=0, then

find the equation of line L.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x − 2y + 5

3x − 2y + 10

2x + 3y − 5

6x − 4y − 7

116. If the points  and  were to be on the opposite side of the 

, then:

A. 

B. a=7

(1, 2) (3, 4)

3x − 5y + α = 0

7 < a < 11

https://dl.doubtnut.com/l/_68rnjeVsW4Rg
https://dl.doubtnut.com/l/_OO4I50cMZZja
https://dl.doubtnut.com/l/_kDl4s18BePS1


C. a=1

D. 

Answer: D

Watch Video Solution

a < 7  or a > 11

117. The coordinates of the image of the originf O with respect to the

straight line  are

A. (-1/2,-1/2)

B. (-2,-2)

C. (1,1)

D. (-1,-1)

Answer: D

Watch Video Solution

x + y + 1 = 0

https://dl.doubtnut.com/l/_kDl4s18BePS1
https://dl.doubtnut.com/l/_rn4fZFmdOA87
https://dl.doubtnut.com/l/_AVrYDXQIpvjm


118. A straight line of length 9 units slides with ends A, B always on x and y

axes respectiv Locus of centroid of AOAB is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 3

x2 + y2 = 9

x2 + y2 = 1

x2 + y2 = 81

119. The area of the triangle formed by the axes & the line

 in square units is

A. 4

B. 3

C. 2

(coshα − sinhα)x + (coshα + sinhα)y = 2

https://dl.doubtnut.com/l/_AVrYDXQIpvjm
https://dl.doubtnut.com/l/_GqwPbFuHIRp1


D. 1

Answer: C

Watch Video Solution

120. A line passes through (1,0). The slope of the line, for which its

intercept between  subtends a right angle

at the origin is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

y = x − 2 and y = − x + 2

±
2

3

±
3

2

±1

https://dl.doubtnut.com/l/_GqwPbFuHIRp1
https://dl.doubtnut.com/l/_UbiLvX0kr9r4
https://dl.doubtnut.com/l/_yZ1aJ3gzV2qQ


121. What is the y intercept of the line that is parallel to  and

which bisects the area of rectangle with corners at (0,0),(4,0),(4,2) and

(0,2) ?

A. 0,-7

B. 0,-6

C. 0,-5

D. 0,-4

Answer: C

Watch Video Solution

y = 3x

122. Given 
and 
 is any line through it cutting the x-axis at 


 If 
 is perpendicular to 
 and meets the y-axis in 
 , then the

equation of the locus of midpoint 
 of 
 is
 
 (b) 


(d) 

A. 

A ≡ (1, 1) AB

B. AC AB C

P BC x + y = 1 x + y = 2

x + y = 2xy 2x + 2y = 1

x + y = 1

https://dl.doubtnut.com/l/_yZ1aJ3gzV2qQ
https://dl.doubtnut.com/l/_JBrBm3xrPjSj


B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 2

x + y = 2xy

2x + 2y = 1

123. Consider two intersecting (non-perpendicular lines

 and a point . Image of  and  is , image

of  in  is  , image of  in  =0 is  and so on. Which of the

following statements are incorrect ?

A. 

B. 

C.  are concylic

D.  is 

L1 = 0 and L2 = 0 P1 P1 L1 = 0 P2

P2 L2 = 0 P3 P3 L1 P4

−−−→
P3P5 =

−−−→
P4P6

−−−→
P1P4 =

−−−→
P2P3

Pi

P5 P14

https://dl.doubtnut.com/l/_JBrBm3xrPjSj
https://dl.doubtnut.com/l/_VRFCG5a8roPL


Answer: D

Watch Video Solution

124. Through point , two perpendicular lines are drawn which

intersect x-axis at Q and R. find the locus of incentre of . a. 

 b.  c.

 d. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P ( − 1, 4)

ΔPQR

x2 + y2 + 2x − 8y − 17 = 0 x2 − y2 + 2x − 8y + 17 = 0

x2 + y2 − 2x − 8y − 17 = 0 x2 − y2 + 8x − 2y − 17 = 0

x2 + y2 − 2x − 8y + 17 = 0

x2 + y2 + 2x − 8y + 17 = 0

x2 − y2 − 2x − 8y + 17 = 0

x2 + y2 − 2x + 8y + 17 = 0

https://dl.doubtnut.com/l/_VRFCG5a8roPL
https://dl.doubtnut.com/l/_5ZMitdEaTf5x


125. A triangle is formed by the lines 
 and 


If 
vary subject to the condition 
then

the locus of its circumcenter is



 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y = 0, x − y = 0,

lx + my = 1. landm l2 + m2 = 1,

(x2 − y2)
2

= x2 + y2

(x2 + y2)
2

= (x2 − y2) (x2 + y2)
2

= 4x2y2 (x2 − y2)
2

= (x2 + y2)
2

(x2 − y2)
2

= x2 + y2

(x2 + y2)
2

= x2 − y2

x2 + y2 = 4x2y2

(x2 − y2)
2

= (x2 + y2)
2

126. If  are the roots of  are the roots of 

 and  are the roots of .

Then the point  and 

x1, y1 x2 + 8x − 97 = 0, x2, y2

4x2 + 32x − 997 = 0 x3, y3 9x2 + 72x − 9997 = 0

(x1, y1), (x2, y2) (x3, y3)

https://dl.doubtnut.com/l/_K4AfTjhhe01s
https://dl.doubtnut.com/l/_IO3stnU5uj0P


A. are collinear

B. form an equilateral triangle

C. form a right angled isosceles triangle

D. are concylic

Answer: A

Watch Video Solution

127. P is a point inside the triangle ABC. Lines are drawn through P,

parallel to the sides of the triangle.The three resulting triangles with the

vertex at P have areas . units. The area of the triangle ABC is

-

A. 

B. 12

C. 24

D. 144

4, 9 and 49sq

2√3

https://dl.doubtnut.com/l/_IO3stnU5uj0P
https://dl.doubtnut.com/l/_hiBcbTYJdB1I


Answer: D

Watch Video Solution

128. If  represents three distinct straight

lines, such that each line bisects the angle between other two, then which

of the following is/are correct

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax3 + by3 + cx2y + dxy2 = 0

d2 > 5bc

3b + c = 0

d2 < 5bc

b + 3c = 0

https://dl.doubtnut.com/l/_hiBcbTYJdB1I
https://dl.doubtnut.com/l/_NIkxHKYrUoHn


129. If the line  intersects the curve 

 at P and Q such that the circle with PQ as a

diameter passes through the origin, then 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

lx + my + n = 0

ax2 + 2hxy + by2 = 1

l2 + m2 =

n2(a + b) = l2 + m2

l2(a + b) = n2 + m2

m2(a + b) = l2 + n2

130. The orthocentre of triangle with vertices

A. 

B. 

(2, ), ( , − ), (2, , − )
√3 − 1

2

1

2

1

2

1

2

( , )
3

2

√3 − 2

6

(2, − )
1

2

https://dl.doubtnut.com/l/_a9GKj8hpTTXT
https://dl.doubtnut.com/l/_cFfVp3B6Khxb


Chapter Test

C. 

D. ((1)/(2),-(1)/(2))`

Answer: B

Watch Video Solution

⎛
⎜⎜
⎝

,
⎞
⎟
⎟
⎠

5

4

(√3 − 2)

4

1. The equation to a pair of opposite sides of a parallelogram are


 and 
 . The equations to its diagonals
 are



 (b) 


(d)


A. 

B. 

C. 

D. 

x2 − 5x + 6 = 0 y2 + 5 = 0

x + 4y = 13, y = 4x − 7 4x + y = 13, 4y = x − 7

4x + y = 13, y = 4x − 7 y − 4x = 13, y + 4x − 7

x + 4y = 13 and y = 4x − 7

4x + y = 13 and 4y = x − 7

4x + y = 13 and y = 4x − 7

y − 4x = 13 and y + 4x = 7

https://dl.doubtnut.com/l/_cFfVp3B6Khxb
https://dl.doubtnut.com/l/_pd9697Po7m6s


Answer: C

Watch Video Solution

2. The distance between the parallel lnes  is

(A)  (B)  (C)  (D) 

A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

y = 2x + 4 and 6x − 3y − 5

1
17

√3
7

√5

15
3

√5

15

17/√3

3/√5

17√15/15

3. P is a point on either of the two lines  at a distance of 5

units from their point of intersection . The coordinates of the foot of the

y − √3|x| = 2

https://dl.doubtnut.com/l/_pd9697Po7m6s
https://dl.doubtnut.com/l/_vS4xx0PmMIKv
https://dl.doubtnut.com/l/_4dtEI3wM1Lyd


perpendicular from P on the bisector of the angle between them are

A.  or ,  depending on which the point

P is taken.

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, )
4 + 5√3

2
(0, )

4 − 5√3

2

(0, )
4 + 5√3

2

(0, )
4 − 5√3

2

( , )
5

2

5√3

2

4. If one diagonal of a square is along the line  and one of its

vertex is , then its sides through the vertex are given by the

equations -

A. 

B. 

x = 2y

(3, 0)

y − 3x + 9 = 0, 3y + x − 3 = 0

y + 3x + 9 = 0, 3y + x − 3 = 0

https://dl.doubtnut.com/l/_4dtEI3wM1Lyd
https://dl.doubtnut.com/l/_5mXJnDhmr3B8


C. 

D. 

Answer: A

Watch Video Solution

y − 3x + 3 = 0, 3y − x + 3 = 0

y − 3x + 3 = 0, 3y + x + 9 = 0

5. The line which is parallel to x-axis and crosses the curve  at an

angle of , is

A. x=1/4

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = √x

45∘

y = 1/4

y = 1/2

y = 1

https://dl.doubtnut.com/l/_5mXJnDhmr3B8
https://dl.doubtnut.com/l/_kbm0nR3MZCh8
https://dl.doubtnut.com/l/_SUQnYZj8IAE3


6.  and  are three points such that  is a right

angle and the area of  is 7 sq.unit. Find the number of such points

R.

A. 0

B. 1

C. 2

D. 4

Answer: C

Watch Video Solution

P (3, 1), Q(6, 5) R(x, y) PRQ

ΔRQP

7. Find the equation of the straight line which passes through the point

 and cuts off equal intercepts from axes.

A. 

B. 

(1 − 2)

x + y = 1

x − y = 1

https://dl.doubtnut.com/l/_SUQnYZj8IAE3
https://dl.doubtnut.com/l/_ZTO70eAHCUDh


C. 

D. 

Answer: C

Watch Video Solution

x + y + 1 = 0

x − y − 2 = 0

8. What is the equation of the straight line which is perpendicular to

 and passes through (3, 2) ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x

x − y = 5

x + y = 5

x + y = 1

x − y = 1

https://dl.doubtnut.com/l/_ZTO70eAHCUDh
https://dl.doubtnut.com/l/_4fGbZsTq825D
https://dl.doubtnut.com/l/_JLRe3G9q1BYm


9. Find the perpendicular distance between the lines 

and to  is

A. 

B. 

C. 6

D. none of these

Answer: B

Watch Video Solution

3x + 4y + 9 = 0

6x + 8y + 15 = 0

3/2

3/10

10. The equation of the line passing through the point  and

perpendicular to the line  is

A. 

B. 

C. 

(1, 2)

x + y + 1 = 0

y − x + 1 = 0

y − x − 1 = 0

y − x + 2 = 0

https://dl.doubtnut.com/l/_JLRe3G9q1BYm
https://dl.doubtnut.com/l/_4tTBT9rpV6Fz


D. 

Answer: B

Watch Video Solution

y − x − 2 = 0

11. The straight lines 

form a triangle which is (A) isosceles (B) right angled (C) equilateral (D)

scalene

A. isosceles

B. equilateral

C. right angled

D. none of these

Answer: A

Watch Video Solution

x + y = 0, 3x + y − 4 = 0 and x + 3y − 4 = 0

https://dl.doubtnut.com/l/_4tTBT9rpV6Fz
https://dl.doubtnut.com/l/_lwKe1TcSdx7j
https://dl.doubtnut.com/l/_apxPthHZCSUR


12. Triangle formed by  is

A. isosceles

B. equilateral

C. right angled

D. none of these

Answer: B

Watch Video Solution

x2 − 3y2 = 0 and x = 4

13. The co-ordinates of the orthocentre of the triangle bounded by the

lines,  and  is

A. (-1,-2)

B. (1,-2)

C. (-1,2)

D. (1,2)

4x − 7y + 10 = 0; x + y = 5 7x + 4y = 15

https://dl.doubtnut.com/l/_apxPthHZCSUR
https://dl.doubtnut.com/l/_6gaNxtRczFxd


Answer: D

Watch Video Solution

14. the lines  for different values of 

passes trough the fixed point is:

A. (3/2,5/2)

B. (2/5,2/5)

C. (3/5,3/5)

D. (2/5,3/5)

Answer: D

Watch Video Solution

(p + 2q)x + (p − 3q)y = p − q p&q

15. Write the distance between the lines

4x + 3y − 11 = 0 and 8x + 6y − 15 = 0.

https://dl.doubtnut.com/l/_6gaNxtRczFxd
https://dl.doubtnut.com/l/_ch7NgNu2l3mI
https://dl.doubtnut.com/l/_xFOplRYiseFO


A. 

B. 4

C. 

D. none of these

Answer: C

Watch Video Solution

7/2

7/10

16. If the diagonals of a parallelogram ABCD are along the lines

 and , then ABCD must be a

A. rectangle

B. square

C. cyclic quadrilateral

D. rhombus

Answer: D

x + 5y = 7 10x − 2y = 9

https://dl.doubtnut.com/l/_xFOplRYiseFO
https://dl.doubtnut.com/l/_H0bSl6gWsZot


Watch Video Solution

17. The straight lines  and 

 form a triangle, which is

A. isosceles

B. right angled

C. equilateral

D. none of these

Answer: A

Watch Video Solution

x + y − 4 = 0, 3x + y − 4 = 0

x + 3y − 4 = 0

18. Write the coordinates of the orthocentre of the
 triangle formed by

points (8,0), (4,6) and (0,0)

A. (4,8/3)

https://dl.doubtnut.com/l/_H0bSl6gWsZot
https://dl.doubtnut.com/l/_udCtAhIAtpnV
https://dl.doubtnut.com/l/_GxKyHeAxI2Mx


B. (3,4)

C. (4,3)

D. (-3,4)

Answer: A

Watch Video Solution

19. A point equidistant from the line

 and is

A. (1,-1)

B. (1,1)

C. (0,0)

D. (0,1)

Answer: C

Watch Video Solution

4x + 3y + 10 = 0, 5x − 12y + 26 = 0 7x + 24y − 50 = 0

https://dl.doubtnut.com/l/_GxKyHeAxI2Mx
https://dl.doubtnut.com/l/_3kE9SZtMnZYt


20. The number of values of 
 for which the lines 
 ,



and 
are concurrent is
(a).0 (b) 1
(c) 2

(d) infinite

A. all a

B. a=4 only

C. 

D.  only

Answer: A

Watch Video Solution

a 2x + y − 1 = 0

ax + 3y − 3 = 0, 3x + 2y − 2 = 0

−1 ≤ a ≤ 3

a > 0

21. The diagonals of the parallelogram whose sides are ,

, ,  include an

angle

lx + my + n = 0

lx + my + n' , = 0 mx + ly + n = 0 mx + ly + n' = 0

https://dl.doubtnut.com/l/_3kE9SZtMnZYt
https://dl.doubtnut.com/l/_bKqe2lKE7BVk
https://dl.doubtnut.com/l/_0Y91UrDJ2Oy5


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π/3

π/2

tan− 1( )
l2 − m2

l2 + m2

tan− 1( )
2lm

l2 + m2

22. The equation of the sides of a triangle are

. The line  passes

through:

A. the incentre

B. the centroid

C. the circumcentre

D. the orthocentre , of the triangle

x − 3y = 0, 4x + 3y = 5 and 3x + y = 0 3x − 4y = 0

https://dl.doubtnut.com/l/_0Y91UrDJ2Oy5
https://dl.doubtnut.com/l/_QVpBPeBt4813


Answer: D

Watch Video Solution

23. A straight line through  is such that its intercept between the

axes is bisected at  its equation :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (1, 2)

P

x + 2y = 5

x − y + 1 = 0

x + y − 3 = 0

2x + y − 4 = 0

24. Two points  and  are joined by a straight line. Another

point on this line , is (A)  (B)  (C)  (D) 

(a, 0) (0, b)

(3a, − 2b) (a2, ab) ( − 3a, 2b) (a, b)

https://dl.doubtnut.com/l/_QVpBPeBt4813
https://dl.doubtnut.com/l/_dn9Jq2OxbST9
https://dl.doubtnut.com/l/_d0W6SAf55qoO


A. 

B. 

C. 

D. (a,b)

Answer: A

Watch Video Solution

(3a, − 2b)

(a2, ab)

( − 3a, 2b)

25. If the line  meets the lines  and 

 at the same point, then m is equal to

A. 1

B. 

C. 2

D. 

Answer: B

y = mx x + 2y − 1 = 0

2x − y + 3 = 0

−1

−2

https://dl.doubtnut.com/l/_d0W6SAf55qoO
https://dl.doubtnut.com/l/_6SA8jaYDTQe3


Watch Video Solution

26. The equations  and  represent the

same straight line if and only if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax + by + c = 0 dx + ey + f = 0

=
a

d

b

c

c = f

= =
a

d

b

e

c

f

a = d, b = e, c = f

27. If the line segment joining (2,3) and (-1,2) is divided internally in the

ratio 3:4 by the line  , then =

A. 

x + 2y = λ λ

41
7

https://dl.doubtnut.com/l/_6SA8jaYDTQe3
https://dl.doubtnut.com/l/_4WmSTFRQivO9
https://dl.doubtnut.com/l/_3iXaT5pa0qKE


B. 

C. 

D. 

Answer: A

Watch Video Solution

5

7

36

7

31

7

28. A point moves in the xy-plane such that the sum of its distance from

two mutually perpendicular lines is always equal to 3. The area of the

locus of the point is

A. 18 sq. units

B. 9/2 sq. units

C. 9 sq. units

D. none of these

Answer: A

https://dl.doubtnut.com/l/_3iXaT5pa0qKE
https://dl.doubtnut.com/l/_2tgvw7bs5aCC


Watch Video Solution

29. The vertices of a triangle are (0,3) ,(-3,0) and (3,0) . The coordinates of

its orthocentre are

A. (0,2)

B. (0,-3)

C. (0,3)

D. (0,-2)

Answer: C

Watch Video Solution

30. The lines  will be

perpendicular, if :

A. 

x cosα + y sinα = P1 and x cos β + y sinβ = P2

α ± β =
π

2

https://dl.doubtnut.com/l/_2tgvw7bs5aCC
https://dl.doubtnut.com/l/_oqudizcvWb6w
https://dl.doubtnut.com/l/_GdigLkvV8g8V


B. 

C. 

D. 

Answer: C

Watch Video Solution

α +
π

2

|α − β| =
π

2

α = β

31. Family of lines  for different real , is

A. not concurrent

B. concurrent at (1,1)

C. concurrent at (2,-2)

D. concurrent at (-2,2)

Answer: C

Watch Video Solution

x sec2 θ + y tan2 θ − 2 = 0 θ

https://dl.doubtnut.com/l/_GdigLkvV8g8V
https://dl.doubtnut.com/l/_Q9OSPnZMq5zF
https://dl.doubtnut.com/l/_6GLTOECVKBrs


32. If the equation 
 represents

two parallel straight lines, then prove that 

A. (3,-1)

B. 

C. (1,1)

D. none of these

Answer: A

Watch Video Solution

x2 + (λ + μ)xy + λuy2 + x + μy = 0

λ = μ.

−3, 1

33. The area of a pentagon whose vertices are (4,1) (3,6) , (-5,1) , (-3,-3) and

(-3,0) , is

A. 30 sq. units

B. 60 sq. units

C. 9 sq. units

https://dl.doubtnut.com/l/_6GLTOECVKBrs
https://dl.doubtnut.com/l/_rlK4VS2X54aQ


D. none of these

Answer: A

Watch Video Solution

34. The foot of the perpendicular on the line 
drawn from the

origin is 
 If the line cuts the 
 and the y-axis at 
 , respectively,

then 
is
 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + y = λ

C. x AandB

BC :CA 1: 3 3: 1 1: 9 9: 1

1: 3

3: 1

1: 9

9: 1

https://dl.doubtnut.com/l/_rlK4VS2X54aQ
https://dl.doubtnut.com/l/_h8hGVBlpUVg4

